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Question Number : 1 Question Id : 64635016059 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A teacher gives lot of positive and negative examples to support his / her presentations in the
classroom. Thigs will be related to which level of teaching?

(1) Autonomous development level (2) Memory level
(3) Understanding level (4) Reflective level

Options:



EAE35063055. 1
64535063100, 2
64535063101, 3
64535063102, 4

Question Number : 1 Question Id : 64635016059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350630399, 1
E4E35063100. 2
E4E35063101. 3
EAE35063102. 4

Question Number : 2 Question Id : 64635016060 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Below are listed some learners’ characteristics. Identify those that help in effective teaching.

(a) Learners’ respect for teacher

(b) Learner’s level of mental ability

(c) Learner's previous experiences

(d) Learner's level of interest to study

(e) Learner's level of interpersonal relation
(fi Learner's view about the society

Select yvour answer from the options given below :

(1) (&), ®), (© and ® (2) (c), (), (e) and (D)
3) (@), ), (c) and (d) @ (b), (), (d) and ()
Options:

64535063103, 1
64535063104, 2
64535083105, 3
EAEZ5063106. 4

Question Number : 2 Question Id : 64635016060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535063103, 1
64535063104, 2
64535083105, 3
EAE35063106. 4

Question Number : 3 Question Id : 64635016061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Below are given two columns. Column — A lhists methods of teaching and Column — B lists the
focus of a method. Match Column — A with Column — B.

Column A Column B
(a) Lecture method (1) Emphasizing the participative procedure
of an act
(b) Demonstration method (i) Experience based learning
(c) Project method (111) Imparting large amount of knowledge
(d) Collaborative method (iv) Students engage in different activities

together and learn
Select your answer from the options given below :
(1) @-0); b)), ©)-@); @-av)
@  (@-a); b)-av); ©-0); (d)-Q)
@  (@-Gi); (b)-0); ©-Gi);, (d-0v)
@  (a-0i); (b)-G); ©-0v); -0

Options:
64535063107, 1
64535063108, 2
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Question Number : 3 Question Id : 64635016061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5 3 e B T 21w A e wghe 6 g A T sk - B # vght ¥ wew 6 g
#7821 WW — A oiR wW B ® gt Hifw)

wWT - A @ - B
(a) =TI Ug[ @) T =8 § afasmosar ™SR 2
b) v fafy (i) 3w SmETRE i
) ufEe fata (i) WEd F(UH T TGH FEA
d) wEEene fafy (v) faeneff fafis wEwam & Ty Fonfes wd
2 o HrEga 2
= for mu fompen § B oo I AT

D @-0); B)-Gi); ©-G); (d-0v)
@  (@-a);, ®O-v);, ©-0; -
@  @-); B-0); ©-0); D)
@  (@-Gi); B)-G); ©-0v); -0

Options:

64535063107, 1
64535063108, 2
4835082109 2
64535062110, 4

Question Number : 4 Question Id : 64635016062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Below are listed some activities performed by a teacher. Which activities are of the nature of
formative evaluation?

(a) Giving a mastery test

(b) Conducting quiz session

(¢) Evaluating students in grading system

(d) Providing feedback while teaching

(e) Encouraging students reflect more

Select your answer from the options given below :
1) (a), (b) and (©
@ (b)), ©and(d)
3)  (b), (d) and (e)

@) (), (c) and (e)
Options:
645350631111
64535063112, 2
64535063112, 3
64535063114 4

Question Number : 4 Question Id : 64635016062 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4635062111, 1

4535082112 2

64535062112,

64535062114, 4

Question Number : 5 Question Id : 64635016063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

From the hist given below, identify those teaching methods which have a great scope for
dialogic discourses.

(a) Lecture with audio — visual aids

(b) Team teaching

(¢c) Tutorials

(d) Problem solving methods

(e) Chalk and talk method

(fi  Group discussions

Select your answer from the options given below :

(1) (&), ®) and () (2) (o), [ and
3) (b, ) and () @ (d), (¢) and ()
Options:

645350631151



E4E35063116. 2
64535063117, 3
64535063115, 4

Question Number : 5 Question Id : 64635016063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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645350631151
64535063116, 2
4535063117, 3
EAEZ5062115. 4

Question Number : 6 Question Id : 64635016064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Supervisor’'s certification on the thesis

(1) Gives name and fame to the supervisor
(2) Clears different bottlenecks 1in the system
(3) Gives welghtage to the scholar’'s work

(4) Ensures originality of the work

Options:

64635063119, 1
4835082120 2
64535062121, 5
64535062122, 4

Question Number : 6 Question Id : 64635016064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g ey W Iy FEwe g aHeH -

1)  wha-Tews el ok ufifes 24 2

@  womelt # syraret fafie sree Sl @ e g
@)  wienefi & WeERE Fi TEea 341 2

@) g 6t Hifeear gifEa s 2

Options:

4635062119, 1
645350621200 2
64535063121, =
64535063122 4

Question Number : 7 Question Id : 64635016065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

After identifying the different variables and establishing the logical reasoning in theoretical
framework, the next step in the research process 1s to

(1) Conduct survey (2) Generate hypothesis
(3) Focus on group discussion (4) Use experiment in an investigation

Options:

64535063123,
64535063124,
64535063125,
4835063126,

[ N Y

Question Number : 7 Question Id : 64635016065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535063123 1
4535063124, 2
EAE35063125. 3
EAE35063126. 4

Question Number : 8 Question Id : 64635016066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which stage in research creates a working thesis for the research paper by specifying and
organizing the category of information?

(1) Research design (2) Developing a hypothesis
(3) Rewview of literature (4) Analysis of data



Options:

64535063127, 1
4835082128 2
4535082129 2
64535062120, 4

Question Number : 8 Question Id : 64635016066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B4E35063127. 1
64535063128, 2
64535063129, 3
E4E35083130. 4

Question Number : 9 Question Id : 64635016067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participation in which type of research has the great potential for ensuring the improvement
of the professional as well as work situation?

(1) Fundamental research (2) Applied research
(3) Evaluative research (4) Action research
Options:

E4E35083121. 1
E4E35063132. 2
64535063133, 3
64535063134, 4

Question Number : 9 Question Id : 64635016067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535063131, 1
64535083132, 2
E4E35063133. 3
EAE350623134. 4

Question Number : 10 Question Id : 64635016068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Reference serves the purpose of
(1) Lending authenticity to the given content (2) Insightful decision making
(3) Giving ornamental value to theresearch (4) Exhibiting the great achievement

Options:

64635063135, 1
64535062136, 2
64535063137, 2
64535063138 4

Question Number : 10 Question Id : 64635016068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35063135. 1
E4E35063136. 2
64535063137, 3
64535063138, 4

Sub-Section Number: 2
Sub-Section 1d: 646350766
Question Shuffling Allowed : Yes

Question Id : 64635016069 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension



All great thinkers live and move on a high plane of thought. It 1s only there they can breathe
freely. It 1s only in contact with spirits like themselves they can live harmoniously and
attain that serenity which comes from ideal companionship. The studies of all great thinkers
must range along the highest altitudes of human thought. I have always thought that the
strongest argument 1n favour of the Baconian theory was, that no man, however indubitable
his genius, could have written the plays and sonnets that have come down to us under
shakespeare’s own name who had not the liberal education of Bacon. The magnificent ideals
that have ever haunted the human mind and given us our highest proofs of a future
immortality by reason of the impossibility of their fulfilment here, are splintered into atoms
by contact with life’s realities. Hence comes our sublime discontent. A habitual mediation on
the vast problems that underline human life and are knit into human destinies — thoughts of
immortality, of the littleness of mere man, of the greatness of man’s soul, of the splendors of
the universe that are invisible to the ordinary traffickers in the street, as the vastness of St.
Peter's 15 to the spider that weaves her web in a corner of the dome—these things do not fit
men to understand the average human being, or tolerate with patience the sordid
wretchedness of the unregenerated masses. It 1s easy to understand, therefore, why such
thinkers fly to the solitude of their own thoughts, or the silent companionship of the
immortals and if they care to present their views 1n prose or verse to the world, that these
views take a sombre and melancholy setting from “the pale caste of thought” in which they
were engendered.

Sub questions

Question Number : 11 Question Id : 64635016070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Great thinkers are content to live

(1) Amidst crises of civilizations
(2) In lofty thoughts with an exceptional calm
(3) At high altitudes in order to be away from society

(4) With complexities of life and find solutions to them

Options:

64535063139, 1
64535063140 2
64835082141, 2
64535062142, 4

Question Number : 12 Question Id : 64635016071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the passage, our sublime discontent 1s due to

(1) Realization of our lack of contact with God
(2) Acute sensge of loneliness 1in a hostile world

(3) Possibility of immortality through some channels to god and the inability to get hold
of it
(4) The contrast between the ideals in great literature and their opposite in the real life
Options:
CAE3E085145. 1
C4AEZ2E082144. 2

64535063145, 3
64535063146, 4

Question Number : 13 Question Id : 64635016072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Bacomian liberal education 1s

(1) A lofty and ideal fantasy

(2) Instrumental in making human beings rue over their destiny
(3) An engagement with the intricacies of the day to day life

(4) Equivalent to ancient ideas of sublimity

Options:

64535063147, 1
64535063148, 2
64835082149 2
64535062150, 4

Question Number : 14 Question Id : 64635016073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Immortality is the crucial idea constantly being explored by

(1) Ordinary traffickers (2) Great thinkers
(3) Gods who appear to the thinkers (4) Scientists
Options:

64535063151, 1
64535063152, 2
E4E35063153. 3
EAE35063154. 4

Question Number : 15 Question Id : 64635016074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Why do great thinkers love solitude?

(1) To be in pursuit of the ideal in the company of immortals

(2) To spend time in peace

(3) Because they are misanthropists

(4) Because the world 1s unhealthy for them
Options:

E4E35063155. 1
E4E35063156. 2
64535063157, 3
64535063158, 4

Question Id : 64635016069 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension

Frofifed e i eamyEe ufeu ot wv HE 11 & 15 & I At

aefl 72 s fa=m & 3= 9Uqa W Ed 21 o 98 I9Ed BH W™ o Hehd 2| 9 A9 @F % HeW
IRt ATt SAfEeT & WY HEnEa o 1@ Uhd 2 ST Wi 6 T Hhd 7 |1 ey A ¥ I
Frar 21 wvfi iR Al 1 Seres aedE e & s g =g 85 Gt fEem fEm 2 fE 9 &
firgia & &1 1 y=a a6 o1 6 =58 oft =afwa ot @ 3ueh wfaw foea & ewfeg == 7 @1, e @R
Hi-e Tl forg wehal o S FAR H0e SFEYR % wWE % M ¥ WA A S ghal o1 e S i
Ien Toen = fieht off) 9 =7 ses S OE & 79 R o9 9% Hifa R 2 et B et e =
= T 38 0T F 2 R TR ST W S STYE 2, ¥ e ft anafasarst % "5k o
e # wifd et 3 21 e FR g STEAN I gan 31 ufverdt o it "wened @
@aifaes nezedar |l ga Sias &1 [@ifeha w1 2 3R mea & uey | 3a:far € - e, oea 6
A1, AE I ST i AEEAl, FEIS 6 957 el S Tl § ey SFfeal 6 g W W B, °
wafud foae w8 & 2 38 fe fa & fou g6t 2 o sted o ovm 8 QA 2 & A Tesied 8
SPd AR h U AHRE fqwerdr #1 949e® §eT F AHhd 8l Id: T8 gAY TH HWes @ fo fo
F B TH a0 WE % foel % ueEhes sven o Wit <t g wnfa § 99 9| 2 o 3fe
d T A1 99 o e § favd & wne A9 faen Teqd #d @ 9t 3ep 39 femm 1 foaw < goa vene A
Tefit o fmvoran =t Igya fiRen i @ R A I gu A

Sub questions

Question Number : 11 Question Id : 64635016070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635063139, 1
64535063140 2
64535063141, =2
4835082142 4

Question Number : 12 Question Id : 64635016071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635063143, 1
4835082144 2
64535062145, 5
64535062146, 4

Question Number : 13 Question Id : 64635016072 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635063147, 1
64535063148, 2
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E4E35063150. 4

Question Number : 14 Question Id : 64635016073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4535063151. 1
64535063152, 2
64535063153, 3
64535063154, 4

Question Number : 15 Question Id : 64635016074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350632155, 1
64535062156, 2
64535062157, 5
64535063158, 4

Sub-Section Number: 3
Sub-Section Id: 646350767
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635016075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Assertion (A) : Communication has the power to inform, persuade and misinform.

Reason (R) : Propaganda blurs the thin line between truth and falsehood to be persuasive.

Choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 18 true, but (R) is false

(4) (A) 15 false, but (R) is true



Options:

64535063159, 1
4835082160 2
4535082161, 2
64535062162, 4

Question Number : 16 Question Id : 64635016075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535062159, 1
64535062160, 2
64535062161, 5
64535063162, 4

Question Number : 17 Question Id : 64635016076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A basic principle of effective class room communication 1s that one should adapt his or her
OWT1 to the audience.

Which of the following would replace the gap?

(1) Accent (2) Exterior
(3) Message (4) Mannerism
Options:

64535063162, 1
E4E35063164. 2
E4E35063165. 3
BAE35063166. 4

Question Number : 17 Question Id : 64635016076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35063163. 1
EdE35063164. 2
E4E35063165. 3
EAE35063166. 4

Question Number : 18 Question Id : 64635016077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A key element for effective classroom communication is

(1) Passivity (2) Negativity
(3) Deflection (4) Advocacy
Options:

B4E35063167. 1
64535063168, 2
64535063169, 3
EAE35083170. 4

Question Number : 18 Question Id : 64635016077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fa T AT HER F1 7T a9 B

(1)  ffsraa (2) TR

@  femen @) vEH-uneda
Options:

64535063167, 1
64535063168, 2
64535063169, 3
EAE35063170. 4

Question Number : 19 Question Id : 64635016078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In communication process, body language 18 associated with

(1) A culture (2) A movie audience

(3) A classroom situation (4) A subject taught

Options:



E4E35063171. 1
BAE35063172. 2
64535063173, 3
64535063174, 4

Question Number : 19 Question Id : 64635016078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535063171, 1
64535063172 2
48350821732 2
E4E35082174. 4

Question Number : 20 Question Id : 64635016079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Local and face-to face commumnication 1s referred to as

(1) Clinical integration (2) Demonstrative integration
(3) Social integration (4) Spatial integration
Options:

E4E35063175. 1
B4E35063176. 2
64535063177, 3
45350631758, 4

Question Number : 20 Question Id : 64635016079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350632175, 1
E4E3E082176. 2
64535062177, o
64535063178, 4

Question Number : 21 Question Id : 64635016080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Choose the correct alternative.
Cup 1g to coffee as bowl 15 to

(1) Dish (2) Soup
(3)  Spoon 4) Food
Options:

64535063175, 1
64535063180, 2
64535063181, 3
EAE35063182. 4

Question Number : 21 Question Id : 64635016080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535063175, 1
64535063180, 2
64535063181, 3
4535063182, 4

Question Number : 22 Question Id : 64635016081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The sixth number in a sequence of numbers 15 32 and each number after the first number in
the sequence 1s 4 less than the number immediately proceeding 1t. What 1s the third number
1n the sequence?

(1) 36 (2) 40
(3) 44 4) 48
Options:

64535063183, 1
64535063184, 2
E4E35063185. 3
EAE35063186. 4

Question Number : 22 Question Id : 64635016081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foret T w0 A o8 wE 32 R 3R 3| wI U vem UEw % W ARael Y% Hedl 36E A% gge
arefl T H 4 9 2| 36 gEal H q|i qem e 27

(1) 36 (2) 40
(3) 41 4 48
Options:

64535063183, 1



EAE35063184. 2
64535063185, 3
E4E35063186. 4

Question Number : 23 Question Id : 64635016082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a class, 20% of the boys have blue eyes and 10% of the girls have blue eyes. If the ratio of
boys to girls in the class is 4 : 3, then what 1s the portion of the students in the class having
blue eyes?

(1) 12/ 33 2y 1445
@ 11/45 @ 11/70

Options:

4835063187,
E4E3506218E.
4635063189,
64535063190,

[

Question Number : 23 Question Id : 64635016082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
foeft e © 20% o=l I o el ? et 10% wsfEd 6 e et 21 afE wan § @S &
agferdi &1 o 4 ¢ 3 2 @1 wen ° Neft o€ g fgenfd= o s 27

(1) 12/33 (2) 14/45
(3) 11/45 @ 11/70
Options:

64535063187, 1
64535063188, 2
E4E35083189. 3
EAE35063130. 4

Question Number : 24 Question Id : 64635016083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

During one vear, the population of a town increased by 5% and during the next year, the
population decreased by 5%. If the total population 1s 29925 at the end of the second year,
then what was the population size in the beginmng of the first year?

(1) 25000 (2) 30000
(3) 33000 (4) 36000
Options:

E4E35063191. 1
B4E350631392. 2
645350631583, 3
645350631394, 4



Question Number : 24 Question Id : 64635016083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el TR i SEE H UH a¥ 5% 6 ghE T3 IR O a9 e ° 5% @i fiuae o) 3fg gh |y
& ¥d U FA AEEN 29925 2 1 WUH A9 F WA H TR AEE o6 ?

(1) 25000 (2) 30000
(3) 33000 (4) 36000
Options:

64535063191, 1
4535083132, 2
E4E350831393. 3
EAE350631394. 4

Question Number : 25 Question Id : 64635016084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The simple interest on a certain sum of money at the rate of 5% p.a. for four years 1s Rs. 420.
At what rate of interest, the same amount of interest can be received on the same sum after
two and half years?

(1) 4% (2) 6%
3) 8% @) 10%
Options:

645350631395, 1
645350831396, 2
E4E350831397. 3
E4E350631398. 4

Question Number : 25 Question Id : 64635016084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt w=fst =1 5% 1 T W WEw AW 420 WY 2 A R6E 9 2 O 34t #@ gt w96 %
TSI S T 3a<t € Tl e E et 27

1) 4% (2) 6%
(3) 8% 4) 10%
Options:

E4E350631395. 1
E4E35063196. 2
645350631397, 3
64535063138, 4

Question Number : 26 Question Id : 64635016085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘All children are not greedy’ 1s an example of which proposition?

(1) Universal Affirmative (2) Universal Negative
(3) Particular affirmative (4) Particular Negative
Options:

E4E35063199. 1
64535063200, 2
64535063201, 3
E4E3506320Z. 4

Question Number : 26 Question Id : 64635016085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

At o= AT T2 2| 98 6 9 99E W TR R
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Options:

E4E35063195. 1
64535063200, 2
64535063201, 3
E453506320%2. 4

Question Number : 27 Question Id : 64635016086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The argument which claims that its conclusion 1s conclusively supported by its premises 1s

called

(L) Analogical Argument (2) Inductive Argument
(3) Demonstrative Argument (4) Deductive Argument
Options:

E4E35063203. 1
64535063204, 2
64535063205, 3
E4E3508320E. 4

Question Number : 27 Question Id : 64635016086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



EAE35063203. 1
64535063204, 2
64535063205, 3
64535063206, 4

Question Number : 28 Question Id : 64635016087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a school, there are five teachers. A and B both are teaching Hindi and English. C and B
both are teaching English and Geography. D and A both are teaching Punjabi and Hindi. E
and B both are teaching History and French

Who among the teachers 1s teaching maximum number of subjects?

(1) A 2y B
(3) D 4 CandE
Options:

EAE35063207. 1
E4E35063208. 2
E4E35063209. 3
64535063210, 4

Question Number : 28 Question Id : 64635016087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

EAEZ5063207. 1
E4E35063208. 2
B4E35063209. 3
4535063210, 4

Question Number : 29 Question Id : 64635016088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the example provided below :

“There 15 no jar now on the ground”

Identify the means of knowledge (Pramana) involved 1n the example from the options given
below :

(1) Anupalabdh (2) Arthapatti
(3) Pratyaksha (4) Anumana



Options:

64535063211, 1
4835083212 2
453508322132 2
64535062214, 4

Question Number : 29 Question Id : 64635016088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635063211, 1
64535063212 2
64535063213 2
64535063214 4

Question Number : 30 Question Id : 64635016089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument given below :

“Sound is permanent because it is audible”

Identify the fallacy invelved in the above argument on the basis of Indian logic from the
options given below :

(1) Fallacy of trivial reason
(2) Fallacy of irrelevant reason
(3) Fallacy of contradictory reason

(4) Fallacy of wrong assertion
Options:
EAE35063215. 1
EAE35063216. 2
E4E35063217. 3
64535063218, 4

Question Number : 30 Question Id : 64635016089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535063215 1
64535063216, 2
64535063217, 5
645350632158, 4

Sub-Section Number: 4
Sub-Section 1d: 646350768
Question Shuffling Allowed : Yes

Question Id : 64635016090 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension

Consider the following table that shows the percentage (%) distribution of population of six
cities A-F, ratio of males to females and the percentage (%) of adult population 1n these
cities. Total population of these a1x cities 18 24 lakhs. In accordance with the table, answer
the questions that follow (Questions 31 - 35) :

Population city wise
City % of population Male: Female % Adult

A 21 4:3 60
B 18 i 64
§ 16 5 | i
D 20 2:8 70
E 10 1 B 15
F 15 a3 65

Sub questions

Question Number : 31 Question Id : 64635016091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1s the total number of male population 1in City D?

(1) 1.88 lakh (2) 1.92lakh
(3) 1.96 lakh (4) 2.04 lakh
Options:

B4E535063215. 1
4535063220, 2
64535063221, 3
EABZS0E3222. 4

Question Number : 32 Question Id : 64635016092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the number of persons in City C who are not adult?

(1) 107520 (2) 108410
(3) 109560 (4) 110800
Options:

B4E35063223. 1
64535063224, 2
E4535063225. 3
EABZS0E322E6. 4

Question Number : 33 Question Id : 64635016093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 1s the difference between the number of males and the number of females in City B?

(1) 42000 (2) 44000
(3) 45000 (4) 48000
Options:

E4535063227. 1
EAB3S0E322E. 2
EAE35063229. 3
BAE35063230. 4

Question Number : 34 Question Id : 64635016094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The number of adults in City E 1s what percent of the number of males in City D?

(1) 825% (2) 87.75%
(3) 92.5 % 4 93.75%
Options:

E4E35063231. 1



EAE3S0E3232. 2
BAE35063233. 3
BAE35063234. 4

Question Number : 35 Question Id : 64635016095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the number of persons of City F who are adult?

(1) 232000 (2) 230000
(3) 234000 (4) 242000
Options:

EAE35063235. 1
EAE35063236. 2
BAE35063237. 3
64535063238, 4

Question Id : 64635016090 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label © Comprehension

Trafatea afeem e o8 =0 A - F &t S7eE & Jiawa faawn, @9 e Afgen o ok 3=
Wl H ok wafhedt 1 ufawa guian mn 2, W famm fRsiv) 37 97 TR i F9 SEe 24 9nE 2
afeteht & S8R W9 | 31-35 % IR feefi

& -aN STEET

T ST H % T % aICh
A 21 4:8 60
B 18 5:4 64
C 16 5.8 72
D 20 2.3 70
E 10 gl 75
F 15 3:2 65

Sub questions

Question Number : 31 Question Id : 64635016091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

D-¥g § 769 i1 $a FHE 27

(1) 1.88d@@ (2) 1.92 @M@
(3) 1.96 &g 4) 2.0491E
Options:

E4E35063219. 1
BAE35063220. 2
64535063221, 3



EABZIS0E3222. 4

Question Number : 32 Question Id : 64635016092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

C-9 1§ 37 =afeal €1 g frat 2 < auF 74 27

(1) 107520 (2) 108410
(3) 109560 (4) 110800
Options:

EAE35063223. 1
BAE35063224. 2
4535063225, 3
EA53S0E3226. 4

Question Number : 33 Question Id : 64635016093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B-3ret 1 g9 R afgen & @@ 1§ fran s 27

(1) 42000 (2) 44000
(3) 45000 (4) 48000
Options:

EAE35063227. 1
BAE35063228. 2
4535063229, 3
64535063230, 4

Question Number : 34 Question Id : 64635016094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

D-3r&t § go8i 6 el T & feha afasm E-vet 09U 27

(1) 825% (2) B871.75%
3) 925% 4) 93.75%
Options:

E4E35063231. 1
BAE35063232. 2
64535063233, 3
64535063234, 4

Question Number : 35 Question Id : 64635016095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F-vi2t 1 feha =afts aoeh 27

(1) 232000 (2) 230000
(3) 234000 (4) 242000
Options:

EAE35063235. 1
EAE35063236. 2
BAE35063237. 3
64535063238, 4

Sub-Section Number: 5
Sub-Section 1d: 646350769
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635016096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

You need to use automatic calculations in preparing a budget. Which software application
should be used?

(1) Spreadsheet (2) Presentation
(3) Word processing (4) Desktop publishing
Options:

B4E35063239. 1
64535063240, 2
4535063241, 3
EABE350E3242. 4

Question Number : 36 Question Id : 64635016096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tote Fior ° 2rmaent efiemtes Tiha O gsat 21 35 fOu Fe Iiredat 1 33 o st =nfEe ?

1) EEe (2) USeIH
(3) 9 JEfEm (1) TR wfsafsm
Options:

64535063239, 1
EAE35063240. 2
EAE35063241. 3
EAEZ506324%. 4

Question Number : 37 Question Id : 64635016097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the context of I'T/ICT, which one of the following statements about spamming is true?

(1) Spamming 18 posting or e-mailing unsolicited advertising messages to a wide
audience

(2) Spamming is sending lines of nonsensical garbage in a chat conversation

(3 Spamming 1s posting a message that contains graphic description of something
offensive

(4) Spamming 1s an attempt to acquire sensitive information for malicious reasons, by
masquerading as trustworthy entity

Options:

435063245,
4535063244,
4535063245,
64535063246,

[ N

Question Number : 37 Question Id : 64635016097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535063243,
64535063244,
4835063245,
E4E3506324E,

[ N

Question Number : 38 Question Id : 64635016098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A wvirus type that is capable of transferring from one computer to another without any ‘user
interaction’ 1 known as

(1) Worm (2) Troan
(3) Key logging (4) Boot sector virus
Options:

EAE35063247. 1
EAE35063248. 2
64535063245, 3
64535063250, 4

Question Number : 38 Question Id : 64635016098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4535063247. 1
EAE350632458. 2
EAE35063249. 3
EAE35063250. 4

Question Number : 39 Question Id : 64635016099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which statement is true about Random Access Memory (RAM) in a computer system?

(1) RAM 1s non-volatile and the amount of RAM 1n a computer system cannot affect its
performance

(2) RAM iz non-volatile and the amount of RAM in a computer system can affect its
performance

(3) RAM is volatile and the amount of RAM in a computer cannot affect its performance

(4) RAM 18 volatile and the amount of RAM 1n a computer system can affect its
performance

Options:

64535063251, 1
64535063252 2
4535083252 2
64535063254, 4

Question Number : 39 Question Id : 64635016099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Random Access Memory (RAM) & 91 § ffafga § o =9 @1+ w2t 2:
(1)  RAM amftaddig 2 ot g fawen § RAM <t amn 8 3gert * Foare qafeq =2 2 21
2  RAM rufiad-tr 2 o e fieen # RAM 1 Ao & 3wt 1 FroqmeT wenfaa 2t 2
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2

4)  RAM UREdT 2 3R w fieen § RAM 1 010 & 359 &1 Fame wefaa 21 ok 21

Options:

64635063251, 1
64535063252 2
64535063253 2
4835083254 4



Question Number : 40 Question Id : 64635016100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the binary equuvalent of decimal number 757

(1) 1101001 (2) 101001
(3) 100101 4) 1001011
Options:

64535083255, 1
EAE350E3256. 2
EAE35063257. 3
B4E35063258. 4

Question Number : 40 Question Id : 64635016100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ZEed wEE 75 6 fg-enamt angents #9127

(1) 1101001 (2) 101001
(3) 100101 (4) 1001011
Options:

E4E35063255. 1
B4E35063256. 2
64535063257, 3
64535083258, 4

Question Number : 41 Question Id : 64635016101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for power from roof-top solar installations by the year
2022 1s

(1) 40.0 GW (2) 50.0GW
(3) 60.0 GW (4) 100.0 GW
Options:

64535063259, 1
E4535083260. 2
EAE35063261. 3
EAEZS0E3262. 4

Question Number : 41 Question Id : 64635016101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 40.0 Tfimmane (2)  50.0 TrmEre
(3)  60.0 TTER (4)  100.0 TfTTETe
Options:

64535063259, 1
EABE3S0E3Z2E60. 2
EAE35063261. 3
EAEZS0E3262. 4

Question Number : 42 Question Id : 64635016102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
How many National Missions of Indian Government are there to address the problem of
chimate change?

(1) 6 (2) 8
(3) 12 @ 17
Options:

64535063263, 1
64535063264, 2
EAE3S0E3ZE65. 3
EAE3IS0E3266. 4

Question Number : 42 Question Id : 64635016102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1y 6 2 8
(3) 12 4 7
Options:

EAE35063263. 1
EAE35063264. 2
E4E35063265. 3
64535063266, 4

Question Number : 43 Question Id : 64635016103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following types of energy sources employ direct energy conversion process to
produce electricity?

(1) Biomass (2) Wind
(3) Geothermal (4) Nuclear

Options:



EAE350E3267. 1
EAE35063268. 2
E4E35063269. 3
4535063270, 4

Question Number : 43 Question Id : 64635016103 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frefafiga o @ fFm 351 @@ &1 I5am fae@ semeT 1§ e suiad & fae s e ?
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Options:

EAE350E3267. 1
EAE35063268. 2
E4E35063269. 3
4535063270, 4

Question Number : 44 Question Id : 64635016104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A geothermal reserve has the stored heat of 5 x 10¥9dJ. If the over all efficiency of a
geothermal power plant based on this reserve 1s 0.04, how much power can be produced by
the plant in 1 year?

(1) ~0.32 GW (2) ~064GW
(3) ~ 262 GW 4 ~63.41GW
Options:

E4E35063271. 1
EABZIS0E3272. 2
BAE35063273. 3
BAE35063274. 4

Question Number : 44 Question Id : 64635016104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

foreht ymifarfir smfafa # 5 < 10100 a0 a@da 21 afg 3@ emfafa ® enur w feddt g-ardfiz fogm
=g i Fa aaar 0.04 2 @ 38 T W 1 99 6 FrEmEty § fean faga 30— e s wwar 27

(1)  ~0.32 Tmare (2) ~ 0.64TmMETRE
(3) ~ 2.62 ThrETe 4) ~ 63.41 Trmare
Options:

EAE35063271. 1
BAEZIS0E3272. 2
BAE35063273. 3
4535063274, 4



Question Number : 45 Question Id : 64635016105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following materials 1s widely used 1n solar cell fabrication?

(1) Nubidium (2) Silicon
(3) Nickel (4) Chromium
Options:

64535063275, 1
E453506327E6. 2
EAB3S0E3277Y. 3
EAE3IS0E3278. 4

Question Number : 45 Question Id : 64635016105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BAE35063275. 1
4535063276, 2
4535063277, 3
EABE3S0E327E. 4

Question Number : 46 Question Id : 64635016106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The introduction of MOOC 1n open and distance learning programmes 1g justified because of
1ts

(1) Low cost considerations (2) Accessibility considerations
(3) Speed considerations (4) Novelty considerations
Options:

EAE35063275. 1
BAE35063280. 2
64535063281, 3
4535063282, 4

Question Number : 46 Question Id : 64635016106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BAE35063275. 1
64535063280, 2
64535063281, 3
EABE3S0E3282. 4

Question Number : 47 Question Id : 64635016107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Gyan Darshan” launched by IGNOU refers to which one of the following?

(1) Satellite based educational T.V. Channel
(2) Educational FM radio network
(3) (zlobal imtiative of Academic networks

(4) Online courses
Options:

64635063283, 1
64635063284, 2
64535063285, 3
64635063286, 4

Question Number : 47 Question Id : 64635016107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4635063283, 1
64535063284, 2
64535063285 o
645350632586, 4

Question Number : 48 Question Id : 64635016108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Through which Act University Grants Commission came into existence?

(I)  UGC Act — 1956
(2)  UGC Act — 1949
(3) UGC Act — 1944
@  UGC Act — 1968

Options:

64635063287, 1
4835083288, 2
645350632589, 5
645350623290 4

Question Number : 48 Question Id : 64635016108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fawafoeme orEm M 6 v frm srfufem & oefim g€ i ?

1) favatqemaz @ emm atatEm 1956
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() Tavafaene stEm smEm sfuftem 1944
@ fTosafaemem stem emam stufm 1968

Options:

64535063287, 1
4835083288, 2
45350832289 2
645350623290, 4

Question Number : 49 Question Id : 64635016109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following nstitutions was established as a consequence to the closure of

Inter-Umniversity Board brought in for promotion of cooperation among the Universities in
the field of education and allied areas?

(1) Assocration of Central Universities
(2) University Grants Commission

(3) IIAS, Shimla

(4) Association of Indian Umversities

Options:
64535063291, 1



EAE35063232. 2
BAE350632583. 3
BAE35063254. 4

Question Number : 49 Question Id : 64635016109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64835063291, 1
64535063292, 2
64535063292, 5
64535063294, 4

Question Number : 50 Question Id : 64635016110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following instructional designs 1s part of SWAYAM launched by Government of
India?

(1) E-Tutorial

(i1) E-Content

(111)  Assessment

av)  Disecussion Forum

(V) Classroom teaching

Choose the correct option from below

(1) (1) and (11) only

@ @), (i), Gv) and (v) only
(3) (1), (1), (1) and (v) only
(4) (i11) and (v) only

Options:
64535063295, 1
64535063296, 2



EAE35063297. 3
BAE35063238. 4

Question Number : 50 Question Id : 64635016110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535063295, 1
64535063296, 2
64535063297, 2
45350832298, 4
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Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
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Question Shuffling Allowed : Yes



Question Number : 51 Question Id : 64635016111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following writers observed that “If our civilization fails it will be
mainly because of a breakdown of administration.”7?

1. L.D.White
2. Henry Fayeol
3, Alexander Pope

4.  W.B. Donham

Options:

64835063299, 1
E4E35082200. 2
645350623201, 5
45350623302, 4

Question Number : 51 Question Id : 64635016111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
4 & 5w das &1 ug ovF 2 & ot gandt s e 2t 2 o soe g s

e S e gme?
1. o LEme
2. ERitOm
3. sfEasT Oy
4. w=g T
Options:

EAE35063295. 1
E4E35063200. 2
64535063201, 3
64535063302, 4

Question Number : 52 Question Id : 64635016112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following said that “Hierarchy consists of the universal application of

the superior-subordinate relaticnship through a number of levels of responsibility
reaching from top to bottom of the structure.”?

1. Luther Gulick

2.  Earl Latham

3. Max Weber
4. L.D. White
Options:

64535063203, 1
64535063204, 2
64535063305, 3
E453506330E. 4



Question Number : 52 Question Id : 64635016112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35063203. 1
64535063204, 2
64535063305, 3
E453506330E. 4

Question Number : 53 Question Id : 64635016113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements labelled as Assertion (A) and Reason (F). Read the
statements and select the correct answer from the codes given below

Assertion (A) : Administrative questions are not political questions.
F.eason (R) : The field of administration is a field of business.

Codes :

1. Both(A)and (R) are true and (R) is the comect explanation of (A)

[ %]

Both (A) and (R) are true but (R} is not the correct explanation of (A)
3. (A)is true but (R) is false

4. (A)is false but (R)1s true

Options:

64535063307, 1
64535063308, 2
645350633209, 2
4835082210 4

Question Number : 53 Question Id : 64635016113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635063207, 1
64535063308, 2
64535063209, =
64535063210 4

Question Number : 54 Question Id : 64635016114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Whe defined span of econtral as ‘the number and range of direet habirual

communication contacts between the chief executive of an enterprise and his principal
fellow officers’?

1. Dimock and Dimock
2. L.D. White
3. Willoughby
4. Pfiffner
Options:
E4635083511. 1
64635063312, 2

E4E35063213. 3
64535063214, 4

Question Number : 54 Question Id : 64635016114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535063211, 1
64535063312, 2
64535063313, 3
E4E35063214. 4



Question Number : 55 Question Id : 64635016115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are the parameters of the term ‘globalization’?
(@) Feduction of trade barmriers among nation-states
(b)  Creation of environment conducive for free flow of capital ameong narion-states
(c) Creation of environment facilitating free flow of technology

(d) Restricting free movement of labour across the intemational borders

Select the comrect answer from the codes given below :
L (a) (b, (c) and (d)
2. (a), (b)and (c)

(a). (b) and (d)

4. (b)and(c)

L)

Options:

48350632151
E4E350832216. 2
64535063217, 5
645350623218, 4

Question Number : 55 Question Id : 64635016115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Foftfan # 3 9.3 dfte vered & ags §7
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Options:
C4EZE082215. 1
64635063316, 2
64635063317, 3
64635063318, 4

Question Number : 56 Question Id : 64635016116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



According to James Fesler, which of the following factors does NOT govem the issue
of centralisation vs. decentralisation?

1. Functional factors
2. Administrative factors
3. Factor of responsibility
4. Leadership factors

Options:

64635063219, 1
645350633200 2
64535063321, 2
64535063322 4

Question Number : 56 Question Id : 64635016116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535063319, 1
EAEZ5063320. 2
E4E35063221. 3
BAE3IS063322. 4

Question Number : 57 Question Id : 64635016117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List—I List—II
{(Definitions) (Scholars)
(a) Administration is the organization and (i)  Pfiffner
use of men and matenals to accomplish
a purpose
(b) Administration is the organization and (i) D. Waldo
direction of human and material
resources to achieve desired ends
(c) Administration is a type of cooperative  (iii) Luther Gulick
human effort that has a high degree of
raticnality

(d) Administration has to do with getting {iv) Felix A. Nigro
things done with the accomplishment
of defined objectives

Choose the correct answer from the options given below :

1. (ariv); (bG) (e-(i); (d)-Gii)

2. (aHiv) G ()i, (dH0)

3. (aHi) ) ()-Gi); (dv)

4, (airy (0 (e (d-0v)
Options:

64535063322, 1
EAE35063324. 2
EAE35063325. 3
BAE35063326. 4

Question Number : 57 Question Id : 64635016117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635063323 1

64635063324, 2

64535063325, 3
E4535063326. 4



Question Number : 58 Question Id : 64635016118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify from the following the features of democratic style of leadership

1. Authority to issue orders to the subordinates and impose on them
punishment for non-compliance is concentrated in the leader.

(&

Subordinates are allowed to participate in decision making and decisions
are taken on the basis of group discussion.

3. Subordinates enjov complete freedom to set goals and strive to achieve
them.

4 Monitors the subordinates” performanee very closely.

Options:

64535063327, 1
64535063328, 2
4835083329 2
45350623220 4

Question Number : 58 Question Id : 64635016118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535063327, 1
64535063328, 2
4835083329 2
45350623220 4

Question Number : 59 Question Id : 64635016119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among following writers identified clarity, consistency, adequacy, timeliness,
uniformity, flexibility and acceptability as elementsprinciples of effective

communication”
1. G.R Temy
2. 1D, Millet

3.  Henry Favol

4, Herbert Simon

Options:

64535063331, 1
64535063332, 2
483508332332 2
45350822324 4



Question Number : 59 Question Id : 64635016119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B45350632351. 1
64535063332, 2
64535063333, 3
EAE350635334. 4

Question Number : 60 Question Id : 64635016120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements regarding promotion is comrect?
1. Promotion leads to job satisfaction.

2. Promeotion in an organisation is given generally on the basis of personal
relations with the superior.

3. Promotion is based on evaluation by subordinates onlyv,
4. Promotion is based, alwayvs, on merit,

Options:

48350633351
E4E3508323236. 2
64535063337, o
645350623338, 4

Question Number : 60 Question Id : 64635016120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TerF & day J Foftfee 49 9. s 5 2
1. warata 4 s &1 9gf et 2
2. foodt e ® vt wmge: afts & @y cfeaa dedl & s & wrdt 2
3. TErA dae e T el T aeaiee oY e gt 8

4. wErEfy wea gram W anenfiE gt #1
Options:
645350633351
64535063336, 2
6435063327, 3
EAR3E06332E. 4



Question Number : 61 Question Id : 64635016121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following thinkers recommended ‘double-loop leaming techniques’
involving leaming from others than from own-self pertaining to technique?

1. Rensis Likent
2, Dwight Waldo
3. Chris Argyris

4.  Femel Heady

Options:

645350632339, 1
64535063340, 2
645350633241, 2
E4E350832242 4

Question Number : 61 Question Id : 64635016121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350632339. 1
E4E35063240. 2
E4535063241. 3
4535063342, 4

Question Number : 62 Question Id : 64635016122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List=I with List=II :

List-I List—II
(Thinkers) (Works)
(a) Frederick Herzherg {i}y Theory X" and Theory Y’
(b}  Abraham Maslow (1) Bureaucracy
(¢) Max Weber (i) Hierarchy of Neads
(d) Douglas MeGregor (iv) Twa-Factor Theory of motivation

Select the correct answer from options given below :
1 (@Gv); ()i); (-G (d)-G)
2. (@HGiD); ®rGv): (-0 (-G
3. (@) M) (e)-Gil); (d)-Gv)
4. (@HD; ®)G) (-Gv); (d)Gi)



Options:

64535063243, 1
4835083344 2
45350832245 =2
64535062246, 4

Question Number : 62 Question Id : 64635016122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535063343, 1
4835083344 2
64535063245, 5
64535062346, 4

Question Number : 63 Question Id : 64635016123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following way, the developing countries have not benefitted from the
globalization?

1. Globalization enables them to raise capital without recourse to intemational
indebtedness.

I

It has strengthened the Welfare Srate.

ek

These countries can make use of foreign technology without investment in
research and development.

4. Itreduces cost of transportation and communication

Options:

64535063347, 1
48350833248, 2
4535082249 2
645350623350, 4

Question Number : 63 Question Id : 64635016123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

646350633247, 1
64535063348, 2
64535063349 2
4835083350 4

Question Number : 64 Question Id : 64635016124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is NOT a feature of New Public Service according to
E. Denhardt and J. V. Denhardt?

1.  WValue entreprencurship above citizenship
2. Value people not just productivity
3. Serve rather steer

4. Serve citizens not customers
Options:
64635083351 1
64535063352 2
E4E25083355. 3
E4E25053354. 4

Question Number : 64 Question Id : 64635016124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. e # afie S 7 9w &
2. HIEH B e & S e o
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Options:
64535063351, 1
64635083352, 2

64535063352, 3
EAE35063354. 4

Question Number : 65 Question Id : 64635016125 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which school of thought states that ‘Government should not be run like a business, it
should be run like a democracy™?

1. NewDPublic Service Approach
2. Ecological Approach
3. New Public Administration

4. Systems Approach

Options:
4535063355 1

E4E35063356. 2
EAE35063357. 3
E4E350632358. 4

Question Number : 65 Question Id : 64635016125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafofee #4 fee famym & og 79 & 5 wen &) ooy i v 76, 3feE dieda
&I g ToH 91y’ ?
1. —EUE S IUH
2. offfRfeEt o
3. 99 HE v
4. TOERNIUTH
Options:
64635063355, 1
64535063356, 2
64535063357, 2
64535063358, 4

Question Number : 66 Question Id : 64635016126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following thinkers called professional managers as ‘knowledge
workers'?

1.  Dwight Waldo

2. Femel Heady

3. Peter Drucker

4.  Robert Golembiewslki
Options:
64635063353, 1
64535063360, 2

E4dEZ50E3361. 3
E4BZE0E3562. 4

Question Number : 66 Question Id : 64635016126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4835063359, 1
E4E350832260. 2
64535063361, o
4535063362, 4

Question Number : 67 Question Id : 64635016127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the follawing is NOT an obstacle to integration in resolving confliets
according to Mary Parker Follett?

1. Absence of intelligence
2. Habit of enjoving domination
3. Undueinfluence of leaders

4.  Keen perception

Options:

64635063363, 1
64535063364, 2
64535063365, o
E4E35083366. 4

Question Number : 67 Question Id : 64635016127 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

8 o wioe & e Prefifae 4 @ o dod snus 85 edten A ama i
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4. TR HEEEE
Options:
64535063363 1
G4AE3E063364 2
64535063365, 3
64535063366, 4

Question Number : 68 Question Id : 64635016128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following factor is WOT responsible for bounded rationalitv leading to
satisficing decisions?

1. Dwnamic rather than static nature of crganisational objectives

2. Imperfect information as well as limited capacity to process the available
information

3. It contains a built-in feedback

4. Time and cost constraints

Options:

64535063367, 1
64535063368, 2
4835083369 2
64535063270, 4

Question Number : 68 Question Id : 64635016128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535063367, 1
64535063368, 2
64E350633649. 3
E4E535063370. 4

Question Number : 69 Question Id : 64635016129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following concepts was NOT propounded by Luther Gulick?

1. Bases of departmentalisation
2. Time as a crucial factorin organisations

3.  Human being as a dynamic factor intrinsic in the study of Public
Administration

4. Fiction of authority

Options:

64635063371, 1
E4E3S0E3372. 2
E4E3E0832273. 2
64535063374, 4

Question Number : 69 Question Id : 64635016129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

48350633711
E4E3E0E3372. 2
64535063373, o
4535063374, 4

Question Number : 70 Question Id : 64635016130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is NOT comect for the theory "Y' assumption?
1. Ttisrelevant toline-staff relationship
2. Scanlon Plan was related ta it
3. It seeks extrinsic motivation

4. Tris people-oriented approach

Options:

64635063375, 1
64535063376, 2
64535063377, 2
E4E3508337E. 4

Question Number : 70 Question Id : 64635016130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635063375, 1
64535063376, 2
64535063377, 2
E4E3508337E. 4

Question Number : 71 Question Id : 64635016131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is NOT a reason behind the adoption of parliamentary
democracy in India?

1.  Past experience
2. Simplicity of the system
3 Need for a strong centre with divided authonty

4. Can represent multicultural, multiethnic society
Options:
6463506833739 1
64535063280, 2
E4E250822381. 3
EABZ50E3382. 4

Question Number : 71 Question Id : 64635016131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafifae 4 9 om-m vra & Sugiy diwda ST W S SR A8l a7
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2. TOERJI H el
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Options:

64535063379, 1
64535063380, 2
64535063381, 2
4835083382 4

Question Number : 72 Question Id : 64635016132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the fu!lnwing Constitutional Amendments has given voting nghts to the
Members of the Legislative Assembly of the Union Temitory of Puduchemnry to elect the
President?

1. 68 Amendment
2. 69" Amendment
3. T0% Amendment

4 T71** Amendment
Options:
645350833835 1
646350633584 2
64535063285 5
64535063256, 4

Question Number : 72 Question Id : 64635016132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

EAE35063383. 1
E4E350632384. 2
E4E5350632385. 3
64535063386, 4

Question Number : 73 Question Id : 64635016133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—T with List—II :

List-I List-II
(Articles) (Provisions)
(a) Amricle 75 (14) {i) A person whe is not qualified to

become a Member of a2 House cannot
be appointed a munister

by  Aricle 75 (2) (i) Ministers shall hold office during the
pleasure of the President

(c) Article 75 (3) (iii) The Council of Ministers shall be
collectively responsible to the House of
People

(d) AniceT73(3) (iv) Total number of ministers shall not

exceed 15% of the total number of
members of the House of Peaple

Choose the comrect answer from the options given below :

1L aHi) (bHavk (o) (d-0)
2. (aHiv) ) (-G (d-0)
3. (apy, (o)), ()G, (d)-Gv)
4. (apid); (b)) (e (d)-iv)

Options:

64535063387, 1

64535063388, 2

64535063389 2

4350633490, 4

Question Number : 73 Question Id : 64635016133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (@A) (®)Hiv) () d)-i)
2. (aHiv) (b)) ()i (d)-0)
3. () (b)) ()i (d-v)
4. (ayi) (o)) (e)-G) (dy-Gv)

Options:

64635083387 1

64535063388, 2

E4E35063389. 3
E4E35063230. 4

Question Number : 74 Question Id : 64635016134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following is‘are NOT appointed bv the President, particularlv, bv
warrant under his hand and seal?

1. Comptroller and Auditor General of India
2. Chief Election Commissioner
3.  Chief Justice of India

4. Judges of the Supreme Count

Options:

64635063391, 1
4835083392 2
64535063292, 5
64535062294, 4

Question Number : 74 Question Id : 64635016134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E4E350632391. 1
BAE35063382. 2
B4E53506323593. 3
645350633394, 4

Question Number : 75 Question Id : 64635016135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

As per the provisions of the Constitution (99%) Amendment Act, 2014, who among the
following was/were NOT to be 3 member of the proposed Natiomal Judicial
Appointments Commission?

1. The Chief Justice of India
2. Two seniormost Chief Justice of State High Courts
3. The Union Minister of Law and Justice

4.  Two eminent persons to be nominated by a committee

Options:
45350633495, 1

E4E350833596. 2
EAE35063397. 3
EAE350632398. 4

Question Number : 75 Question Id : 64635016135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350632395, 1
64535063396, 2
E4E35083397. 2
45350832298 4

Question Number : 76 Question Id : 64635016136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is NOT comectly matched regarding the common
grievances against the administration?

1.  Maladmimistration : Imefficiency in achieving the targets

2.  Discrimination: : Ignoring poor and uninfluential citizen’s genuine
complaint
3. Discourtesy : Failure to attend to public complaints against

admimistration

4. Favouritism : Deing or not deoing things for obliging people in
power of people who matter



Options:

64535063299, 1
48350832400, 2
4535082401, 2
645350623402, 4

Question Number : 76 Question Id : 64635016136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR & fes o et & T | e § @ eF-w a8 getta il 37
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Options:
C4EZE0EZRZ299 1
C4EZE0E2400. 2
C4E35082401. 2
C4E35082402. 4

Question Number : 77 Question Id : 64635016137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The financial aspect of inter-govemmental relations is known as :
1. Asvmmetrnc federalism
2. Fiscal federalism
3. Quasi-federalism

4.  Cooperative federalism

Options:

64535063403, 1
48350832404, 2
4535082405 2
64535062406, 4

Question Number : 77 Question Id : 64635016137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

sear-gra dedl =1 e 9y Feera &
1. et duae
2. ot g
3. AY-gwEE
4. Feen duae
Options:

64535063402, 1
E4E35063404. 2



E4E35063405. 3
EAE35063406. 4

Question Number : 78 Question Id : 64635016138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements is NOT correct about the NITI Aavog?

1.  Itwas setup by the Cabinet Resolution of 1* January, 2015,

2. Irsideological roots can be found in Mahatma Gandhi's urge for ‘constant

development”.
3.  Itwas the outcome of India’s preference forthe free-market strategy.

4. It supports the post-colonial dirigisme State.
Options:
E4535053407. 1
64535083408, 2
648350683409 2
64535052410 4

Question Number : 78 Question Id : 64635016138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fifer smdm & = H Fofafa 3§ 4 s9-m s\ a9 g e
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Options:
4535062407, 1

E4E35063408. 2
E4E35063409. 3
64535063410, 4

Question Number : 79 Question Id : 64635016139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Govemnment of India authonsed the Central Vigilance Commission as the
‘Designated Ageney’ to receive written complaints for the disclosure on any allegation
of misuse of office from “whistleblowers” through :

1. Anordinance

2. An Aerofthe Parliament

3. Aresolution of the Government of India
4. Aresolution of the NITI Aavog

Options:
4235062411, 1

EAE35063412. 2
64535063413, 3



EAE35063414. 4

Question Number : 79 Question Id : 64635016139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535063411, 1
64535063412, 2
E4E35063413. 3
EAE35063414. 4

Question Number : 80 Question Id : 64635016140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statement regarding using writ of ‘Centiorari’ is NOT correct?

1. Itisissued against a body vested with legal authority.

o]

It does lie against a private individual,
3.  Itdoesnot lie against a domestic tribunal having no statutory power.

4. The principles of natural justice should be observed.

Options:

64635063415, 1
64535063416, 2
64535063417, 2
4835062418 4

Question Number : 80 Question Id : 64635016140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
THE TTfHE & ST & A | FREd 4 8 $E-9 Sy 99 T8 87
1. FREH ER A e e & s anl fFm a2
2. g il =fe & e il g 21
3. T i w4 e e ol it & e ol e g 21
4. wiptee I F Ragrm 1 s fea @ =i

Options:
453250824151

E4E35063416. 2
EAE35063417. 3
E4E350634158. 4



Question Number : 81 Question Id : 64635016141 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Under which Article of the Constitution of India, can the Govemor of a State ask the

Chief Minister to submit for the consideration of the Council of Ministers any matter on

which a decision has been taken by a minister but which has not been considered by the
Council?

1. Amniele 200

2. Amicle 201

3. Article 167 (a)

4. Aricle 167 (c)
Options:

64535063415, 1
64535063420, 2
64535063421, 3
EABE35063422. 4

Question Number : 81 Question Id : 64635016141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. SrI=g 200
2. 3EsE 201
3. orgwsE 167 (2)
4. HT=E167(0)
Options:

64535063415, 1
64535063420, 2
64535063421, 3
EABE35063422. 4

Question Number : 82 Question Id : 64635016142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following statements regarding Council of Ministers of a State is
correct?

1. Oath of secrecy to the ministers is administered by the Chief Tustice of High
Count

2. Ministers are bound by the cath of secreev only till they are part of the
Cabiner.

Lad

Omnly the higher judiciary has the power to call for the details of discussions
of a Cabinet Meeting.

4. Anyv premature leak of a Cabinet decision could result in the erosion of
legitimacy of the government.

Options:
4235062423 1



EdE35063424. 2
BAE35063425. 3
EAE35063426. 4

Question Number : 82 Question Id : 64635016142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35063423 1
64535063424, 2
64535063425 o
64535063426, 4

Question Number : 83 Question Id : 64635016143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who ameng the following is not a member of the collegium for selection of Chief
Secretary as recommended by the Second Administrative Reforms Commission?

1. A Minister nominated by the Chief Minister

2. Leader of the Opposition in the State Legislative Assembly
3. The incumbent Chief Secretary

4. A Judge ofthe High Court

Options:

64535063427, 1
64535063428, 2
64535063429 2
64535063430 4

Question Number : 83 Question Id : 64635016143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
E4E35053427. 1

BAE35063428. 2
64535063429, 3



EAE35063430. 4

Question Number : 84 Question Id : 64635016144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has the power to sanction expenditure out of the
Contingeney Fund in the State?

1. Finance Minister

2. Accountant General

3.  Finance Secretary

4. Govemnor

Options:

64635063431, 1
64535063432, 2
64535063433 =2
48350832424 4

Question Number : 84 Question Id : 64635016144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafafae 3 @ 5l o= 1 asfens Pfy @ e A gl 33 =1 aftem &7

1. e

2. e

3. fmwfE

4, IO
Options:

E4E35063431. 1
EAE35063432. 2
B4E535063433. 3
64535063434, 4

Question Number : 85 Question Id : 64635016145 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements about the District Collector are true?

() The Second Administrative Reforms Commission has suggested keeping the
Collector away from developmental work.

k) The role of Collectors in development administration has diminished after the
Panchavati Faj Aets of 1993 and 1994 of various States.

() The Annnal Confidential Repart of the Collector is written by the Member of
Parliament of the district.

(d}  The Collector oversees the conduction of elections in the district

Select the correct answer from the codes given below :

L. (b)and(d)

2. (a). () and (d)

3. (c)and(d)

4. (a)and(d)
Options:

64535063435, 1
E453506343E. 2
EAE35063437. 3
E4E35063438. 4

Question Number : 85 Question Id : 64635016145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535063435, 1
EAE3506343E6. 2
EAE35063437. 3
E4E35063438. 4

Question Number : 86 Question Id : 64635016146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the evolution of urban local government in India, which of the following is called the
Magna Canta of local govemnment?

1. Roval Charter of 1720
2. Formation of Local Committees by the Act of 1830
3. PRipon's Resolution of 1882

4. Government of India Act, 1919

Options:

64535063439, 1
48350832440 2
4535082441 =2
64535062442, 4

Question Number : 86 Question Id : 64635016146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4 HRG WeR Affan 1919
Options:

E4E35063439. 1
64535063440, 2
64535063441, 3
E453506344Z. 4

Question Number : 87 Question Id : 64635016147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List=I with List=II :

Ligt-I Ligt-I1
(Constitutional Provisions) (Articles)
(a) Constitution of Municipalities (1) Anicle 243 ]
(b) PReservation of Seats in Municipalities (i) Aricle243U
(c) Audit of Accounts of Panchavats (i) Anricle243Q
(d) Duration of Municipalities (av) Anticle 243 T

Choose the comrect option from those given below :
L @HGv) G- (@) (d)-)
2. (ari) (®Hiv); (e-0); (d)i)
3. (api) (e (c)iv); (d)Gii)
4 (apd) (b)) (e)-iv): (dHD

Options:
64535063443, 1



E4E35063444. 2
64535063445, 3
E4E3506344E. 4

Question Number : 87 Question Id : 64635016147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

el ®1 i1 & e Fifen

-1 -1
(s waur) (3 7=3)
(a) RO & e ) =g 2437
(b) TS H R BT A (i) SA=E 243U
(c) taTgat s dast @t dten (i) SrF=E 243 Q
(d) TRl S aEfy (v) 243 T
#t fag o faea & & wE a9 1 997 Fife

L (@v) (b)), (i), (dii)
(a)=(ii); ()-Gv); (e (d)-()
3 (ai) (b)) (-v); (d)(ii)
4 (aHiiE); (b (eH1v); ()0

Pl

Options:
E4E35063443 1

E4E35063444. 2
E4E35063445. 3
BAE3506344E. 4

Question Number : 88 Question Id : 64635016148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements is false regarding State Finance Commissions

(SFCs)?
1 SFCs have been provided under Amicle 243 [

2. SFC distnbutes funds that are received from the central govemment
amongst the local bodies of the State.

3.  5FCs are entrusted to promote minimum essential services inm rural and
urban areas by suggesting measures for proper devolution of funds to local

bodies,

4. It helps in enhancing fiscal federalism in the country.

Options:

64535063447, 1
483506832448 2
64535062449, 5
64535062450 4

Question Number : 88 Question Id : 64635016148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4535063447, 1
64535053448, 2
64635063443 3
64635053450, 4

t2

Question Number : 89 Question Id : 64635016149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements is false regarding the State Election Commissions
(5ECs)?

1.  SECs have been set up by the Constitutional 74® Amendment Act, 1992,

2. Separate provisions for SECs have been madein Arnticle 243K forlocal
self-governments,

3. For fulfilling functions of SECs, the State Govemments could utilise the
electoral machinery working under the ECI in respeetive States.

4. There is a complete separation of roles between the Election Commission of
India (ECI) and the State Election Commissions (SECs).

Options:

4635063451, 1
64535063452, 2
64535063453 =
64535053454 4

Question Number : 89 Question Id : 64635016149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535063451, 1
64535063452, 2
64535063453 =2
4535082454 4



Question Number : 90 Question Id : 64635016150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is related 1o PESA Aer, 19967
1. Enhanecing financial strength of Panchayats
2. Enlarging powers and functions of PRIs
3.  Expanding Panchayati Raj to Scheduled Areas
4. Endowing powers to recruit personnel by Panchavars
Options:
4535063455, 1
E4E25083458. 2

EAE35063457. 3
E4535063458. 4

Question Number : 90 Question Id : 64635016150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FraftfEa & § -9 T afafram, 1996 & Hefia 22

1. durE @ g ofEa & ofE

2. Tt I SR @ wiedt ud verl @ e
3. orgiad &1 H dEmdt ae = i

4. daTad g el @1 Wil & sifier T e

Options:

64535063455 1
64535063456, 2
64535063457, o
64535063458, 4

Question Number : 91 Question Id : 64635016151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following has observed that "Comparative Public Administration has
been predominantly eross-enlmral ar eross-national in orientation’?

1. Roberm H. Jackszon

2. Jong S. Jun

3. Hahn-Bee Les

4 Nimrod R.apha:]i
Options:
C4E25082459 1
C4E2E08324E60. 2

E4dEZ50E834E61. 5
E4BZE0E34E82. 4

Question Number : 91 Question Id : 64635016151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35063459. 1
E4E35063460. 2
BAE35063461. 3
4535063462, 4

Question Number : 92 Question Id : 64635016152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Dwight Walde has adopted the struetural-functional approach in Publie Administration
from—

1. Psychology

2. Anth.mpalngy
3.  Biology

4 Philusuphy

Options:

64635063463, 1
64535063464, 2
64535063465 o
64535063466, 4

Question Number : 92 Question Id : 64635016152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FATEE ATTE! 3 T WETEE § SR geiEe guns e # # e s 87

1. i d

2. wa-fama @

3. ditafme &

4 EEFEEEE
Options:

EAE35063463. 1
E4E35063464. 2
E4E535063465. 3
64535063466, 4

Question Number : 93 Question Id : 64635016153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT a conceptual approach in Cemparative Public
Administration according to Ferrel Heady?

1. Modified raditional continuity
2. Development-oriented problems of public administration
3. ldealtvpe model making

4. General system model building study of administrative svstem
Options:
64535083467, 1
64635063468 2
64535063469 5
E4E250E82470. 4

Question Number : 93 Question Id : 64635016153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T 38 F HTER qUES T WA | FRfiEd d 9 $15-9 3auREs JunE T8l
2
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2. i meneE @ srarE e
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Options:
4235062457, 1

EAE35063468. 2
E4E35063469. 3
B4E35063470. 4

Question Number : 94 Question Id : 64635016154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Consider the following statements about Japanese Parliament, Diet.
(a) The term of members of the House of Representatives is 4 vears,
i(b)  The term of members of the House of Representatives is 5 vears.

(c) The term of members of the House of Councillors is 6 vears, with 13 members
retiring after everv 2 vears.

(d) The term of members of the House of Councillors is 6 wears, with 1.2 member
retiring every 3 years.

Which of the above statements are correct”?

1. (b) and (d)

2. (b)and(c)

i (a) and (c)

4. (a)and(d)
Options:

B4E35063471. 1
BAE35063472. 2



EAE35063473. 3
BAE350634 74, 4

Question Number : 94 Question Id : 64635016154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
WU BI WHg, B0 # a1 H HufaiEa sy © fan etfag
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(b)  wiafais 5w F 9ol #t Satai s T g

(c) &3 HiF FIERAR F yewd! %1 Haffd ¢ 7 § R vl 2 7 91 79 UF e
Hew Jarfage & o ¥

(d) EIE e Frfien & vo 2 eafafy s ad & SR vds 3 of o 5% il wew
T o @ 2l

T ARG A T
1L (b) AR (d)

b

() 3R (c)
(2) AR ()

Lia

4. (a) ¥R (d)

Options:
4535063471, 1

EABE35063472. 2
EAE35063473. 3
BAE350634 74, 4

Question Number : 95 Question Id : 64635016155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following does WOT form a part of the House of Lords in UE?
1.  Scottish Peers
1. Spirtal leaders like Bishops and Archbishops
3. LawlLords
4, Irish Peers

Options:
E4E325082475. 1

EAEZ5063476. 2
EAE35063477. 3
BAE35063478. 4

Question Number : 95 Question Id : 64635016155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635063475, 1
64535063476, 2
64535063477, 2
483506832478 4

Question Number : 96 Question Id : 64635016156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following observed that Development Administration is “a process
leading to an increasing ability 1o make collective decisions, especially decisions thar
evolve long-temm environmental changes™?

1. Fred W, Riggs
2. Donald Stone
3.  LaPalombara

4. Femel Heady

Options:

64535063479, 1
645350634380 2
48350832481, 2
645350624582, 4

Question Number : 96 Question Id : 64635016156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafea & 9 few og ool 71 2 1 e vaes us wiem & o afes o &3 =1
Tt g8 e 1 AR T T &, i @ Fofg &t i mofdio ofad=t = sl

A E?
1. wEE=g i
2. IAmEER
3. ORI
4. FwEd
Options:

64535063479, 1
64535063450, 2
EAE35063481. 3
EAE35063482. 4

Question Number : 97 Question Id : 64635016157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who ameng the following scholars have highlighted the significance of the ‘spatial
dimension” in the understanding of development administration?

(2)  James J. Heaphey
(b)  Henry C. Han
(¢) Bertram M. Gross
(d)  Stanley Hoffiman
Select the carrect answer from the codes given below
1. (a) only
2. (a)and(b)
3. (a), (b)and (c)
4. (a), (), (c) and (d)
Options:
64535063483 1
6465350634384, 2

645350634585, 3
64535063456, 4

Question Number : 97 Question Id : 64635016157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frofaftEa # @ e/ fagm fag= 3 faew mmea § 9y #§ =i S #1 /g0 ™

T fean 27

(a) O O.EG

b TR

(60 TEHTHFH

(d) =T FEE

3 fom o 32t H 9 wh o g
1. &)
2. (a) AR (b)

3. (), () ()

4. (a), (), () 3 (d)
Options:
£4835063483. 1
£4635063484. 2
64635063485, 3
64635063486, 4

Question Number : 98 Question Id : 64635016158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Development administration calls for—
(a) qualitative change in bureaucratic policies and programmes
(b) quantitative change in bureaucratic procedures and methods of work
(c) change in collegiate decision-making
(d) change in patterns of relations with client in administration
Select the correct answer from the codes given below :
L (a), (b)and (c)
2. (b), (c)and (d)
(a), (c) and (d)

s

4. (a), (b). () and (d)

Options:
E4E35063457. 1

EAEZ50634E8E. 2
E4E35063489. 3
EAE35063430. 4

Question Number : 98 Question Id : 64635016158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
s e 5 HaedH W T 5 27
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) e vhmal ud st § aEe o
(€ amfew fFofa-Feio & ofed=
(d) vETEA H oSt & Wy Ey ¥ Y miaey o ofveda
ra faw o e A @ 98 Iw g

L (@) @) 3R (o)

2. (b)), (c) R ()

3. (a) () AR (d)

4. (&) () (c) MR (d)
Options:

64535063457, 1
E45350634588. 2
EAEZ5063459. 3
E4E35063430. 4

Question Number : 99 Question Id : 64635016159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who coined the phrase ‘Sustainable Development™?
1. World Health Organisation
2. World Bank Eeport on Air Pollution
3. World Commission on Environment and Develapment

4. Intemational Convention on Biological Diversity

Options:

64535063491, 1
645350623492, 2
64535062492 o
64535063494, 4

Question Number : 99 Question Id : 64635016159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

1. fay w=a ETes
2. g vEEw EEd I i =t foe
3. vt v faera W fay smam

4. o fafm w saifa e

Options:

64635063491, 1
64535063492, 2
64535063493 =
64535063494 4

Question Number : 100 Question 1d : 64635016160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statements regarding Corporate Social Responsibility are true?

(a)  Itis defined under the Companies Act, 2013,
)] It is mandatory for only privately owned companies.
(c) It 15 applicable on companies with net worth of Rupees 300 crore or more.

(d) It 15 applicable on companies with annual profits of Rupees 50 crore or more.

Select the correct answer from the codes given belaw :

1.  (a) and(b)
2. (2)and(c)
3. (a)and(d)

4. (). ®)and (c)

Options:
64535063495, 1
64535063496, 2

BAE35063457. 3



EAE350634395. 4

Question Number : 100 Question Id : 64635016160 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4 (@, 0) M ()
Options:

645350634395, 1
EAE350634396. 2
EAE35063457. 3
E45350634355. 4

Question Number : 101 Question 1d : 64635016161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The role of Indian Govemnment in shaping the business environment relates to
(a) regulation of business

(b) promotion of business

(c) entrepreneurial govermment

(d) government as a planner

Select the correct answer from the codes given below .
1. (a), (®)and (c)
2. (b), (c)and (d)
3. (a), () and (d)
4. (a), (@), (c) and (d)

Options:
45350634599 1

E4E35063500. 2
E4E35063501. 3
EAE35063502. 4

Question Number : 101 Question Id : 64635016161 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
WEEA & UNEE BT HHN &4 1 WIid TWeR 51 Yt fea ddfim 27

(a) ogEm & fafaass

(b) TIEE H WEEA
(c)  IowEiT TWEN
(d) TR U Foes & F=aH

Hfra fo o 1 9 W o gf:
L (@), ®) ()
2. (). ()M ()
3. (@), ®) 3R ()
4 (@, 0, M)

Options:

4535063499, 1
64535063500, 2
64535063501, 2
64535063502, 4

Question Number : 102 Question Id : 64635016162 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Financial administration occupies an important place in the govemance of a country
because -

(a) It enhances social justice and inclusion in the process of development
(b) Financial administration is a tool of the govemment to achieve national goals
(e) It focuses on traditional budgeting practices and prineiples

(d)  Finamcial administration agencies operate under the comtrol and direction of
Public Accounts Commitiee

Select the correct answer from the codes given below :

1. (a), (b), (¢) and (d)

2. (a), (b)and (c)

3. (a)and(b)

4 (b)and(d)
Options:
E4535063503. 1
64535063504, 2
E4E25083505. 3
E4E35063506. 4

Question Number : 102 Question Id : 64635016162 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4. (b) ¥R ()
Options:

64535063503, 1
64535083504, 2
E4E35063505. 3
EAE35063506. 4

Question Number : 103 Question Id : 64635016163 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which form of public enterprises, the conditions of recruitment and service of the
staff are the same as for the civil servants?

1. Public Corporation

2. Govemment Company

3.  Departmental Undertaking

4. Multi-umit Company
Options:
E4E35063507. 1
64535063508, 2

64535063509, 3
64535063510, 4

Question Number : 103 Question Id : 64635016163 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tl 3l & fra wu @ =1E 31 wdl o do 91 ud fofaw do=1 & w9= 8 gt 87

1, @WFEIgH
2. HEEHIFTE
3. fnrfaausn

4. WE-ZHIS TN ST
Options:
64535063507, 1
64535063508, 2
64535063509, 3
64E35063510. 4



Question Number : 104 Question Id : 64635016164 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Peason (R). Read the statements and select the comrect answer from the codes given
below :

Assertion (A) : The Central Board of Direct Taxes is entrusted with the task of policy
and planning of direct taxes.

Feason (R) : It administers direct taxes law through the Income Tax Department.

Codes :
1. Both{A)and (R) are true and (B is the comrect explanation of (A)
2. Both(A) and (R} are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false
4. (A)is false but (R)is true

Options:

64635063511, 1
64535063512 2
64535063513 2
64535063514 4

Question Number : 104 Question 1d : 64635016164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e €1 Fu= Ry mu & fi & v sifireu (A) 3 g8 a6 (R) 21 39 #vAl &1 uigy aiR
#2 faw o e =1 W = e I g
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1. (A) SfR(R) H1WE EaU(R) (A) PHEI oorem B
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Options:
64635063511, 1
64635063512, 2

64535063513, 3
64535063514, 4

Question Number : 105 Question Id : 64635016165 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which type of budget specially addresses the issues such as increased feminization of
poverty, exploitation of women in low paid, arduous, insecure jobs; comecting gender
gaps in education; etc.?

1. Planning-Programming Budgeting
2. Zero-based Budgeting
3. GenderBudget
4. Green Budget

Options:

E4535063515. 1

64535063516, 2

64535063517, 3
64535063515, 4

Question Number : 105 Question Id : 64635016165 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. P goe word
2. -y e ot

3. S EEc
4. ghaooc @ 90
Options:

64535063515, 1
64535063516, 2
64535063517, 3
EAEZ506351E. 4

Question Number : 106 Question Id : 64635016166 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements is NOT true conceming the Public Account of India
under Article 266 of the Indian Constitution?

1. This account is operated by executive action, that is, the payvments from this
account can be made without parliamentary appropriation.

[

All other public monev received by or on behalf of the Government of India
is credited to the Public Account of India,

3. It includes providemt funds, judicial deposits and so on,

4. Itincludes all revenues received by the Government of India.
Options:
4535063519 1
64535063520, 2

EAE35063521. 3
BAE3S0E3522. 4

Question Number : 106 Question Id : 64635016166 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535063519, 1
64535063520 2
64835083521 2
4535083522 4

Question Number : 107 Question Id : 64635016167 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following types of audit are conducted by the Comprroller and Auditor
General of India?

{a) Financial Audit
ib) Social Audit
(c) Compliance Audit

(d) Performance Audit

Select the correct answer from the codes given belaw :
L. (), (b), (c) and (d)
2. (a) (e) and (d)

(b), (c) and (d)

Lad

4. (a), (b)and (c)

Options:

64535063523, 1
64535063524, 2
64835083525 =2
4535083526 4

Question Number : 107 Question Id : 64635016167 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E35063522 1

EAE35063524. 2
EAE35063525. 3
BAE35063526. 4

Question Number : 108 Question Id : 64635016168 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following statements is NOT true about Committee on Public
Undertakings?

1.  Committee on Public Undertakings was created in 1964,
2. Trs Chairman is strictly from Lok Sabha

3. It examines the assurances and undertakings given by the minister on the
floor and report back on the assurances and promises.

4. Its main function is to analvse the accounts of Public Undertakings and
examine the reports of the CAG on Public Understakings.

Options:

64835063527, 1
4535083528, 2
64535063529, o
64535063520 4

Question Number : 108 Question Id : 64635016168 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE35063527. 1
BAE35063528. 2
B4E35063529. 3
64535063530, 4

Question Number : 109 Question Id : 64635016169 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statement regarding fiscal federalism is WOT comect?

1.  Ithas evolved over a period of time.
2. Local governments after 1992 form a part of fiscal federalism.

3. The 5tates are highlv dependent on the transfer of funds from the Union
Govemnment.

4. Finance Commission and NITI Aaveg contribute significantly in the
transfer of funds to the States from the Centre,

Options:

64535063531, 1
64535063532 2
E4E35083533. 2
4535083534 4

Question Number : 109 Question Id : 64635016169 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fefofan 4 3 M- Sy Tae g H9aE & a1 & 98 61 87
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4. firg emi oiv i s S # S @ weat @t it & sev d mewat
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Options:

64535063531, 1
64535063532 2
E4E35083533. 2
64535063524, 4

Question Number : 110 Question Id : 64635016170 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Canon of Equitvy means that there must be :
1.  Legal justice for all
2. Cerainty in taxation
3 Economic and social justice for zll peaple
4. A sunset elause forthe tax

Options:
64535063535, 1
4835083536 2



EAE35063537Y. 3
E4E35063538. 4

Question Number : 110 Question Id : 64635016170 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T % faaid w el §
1. = & o Rt = g anfen
2. Hoyr A i gt ey
3. o et & fir anfifs o amafors =om 8 arfie
4. = & forg gt o= g Tifen
Options:
64635063535 1
64635063536, 2

B4E535063537. 3
64535063538, 4

Question Number : 111 Question Id : 64635016171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following are the objectives of Social Welfare Administration?
(a) To translate social mandates into operational policies

(k) To arrange funds from private sources

() To select and organize necessary kmowledge

(d) To facilitate systematic and continuous problem-solving

Select the correct answer from the codes given below
1. (a)and (b)
2. (b)and(c)
3. (a) (band(c)
4. {a), (c) and (d)

Options:
45350635359 1

E4E35063540. 2
EAE35063541. 3
EAE35063542, 4

Question Number : 111 Question Id : 64635016171 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635063539, 1
E4E35083540. 2
4535083541, =2
64535063542, 4

Question Number : 112 Question Id : 64635016172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following agencies is responsible for handling emergencies including
those requiring close involvement of the security forces or intelligence agencies”

1. National Disaster Management Authority
2. National Crisis Management Committee
3. National Disaster Response Force

4. Ministry of Home Affairs

Options:
453250835421

EAEZ5063544. 2
E4E35063545. 3
EAE3506354E. 4

Question Number : 112 Question Id : 64635016172 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35063543. 1
EAE35063544. 2



EAE35063545. 3
EAE3506354E. 4

Question Number : 113 Question Id : 64635016173 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List-I with List=II :

List-I List—I1
{Book) {Author)
(a) Development as Freedom (i) Antheny Forder
(b} Essavr on the Welfare State ({ii) Harold J. Wilensky and

Charles N. Lebeaux
(c) Industrial Seciety and Social Welfare  (iii) Amartya Sen
(d) Concepts in Secial Adminisiration (v) Richard M Titmuss

Choose the correct option from those given below :
Lo @rGy (i) (e)-Gu); (d)-Gv)
2. (@HGi): G (e-Gv): (d)HGi)
3. (@) (o)iv); (e (d-E)
4. (i), (b)), (eHiv): (d)-()

Options:
4535063547 1

E4E35063548. 2
B4E535063545. 3
E4535063550. 4

Question Number : 113 Question 1d : 64635016173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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L (@) (b (), (d)-iv)
2. (@i e (e-av); (d)-ii)
3. (addii) (e0v) (e (dH0)
4, (api) ) (e (i)

Options:
4535063547 1

E4E350635458. 2
E4E35063549. 3



EAE35063550. 4

Question Number : 114 Question Id : 64635016174 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which was the first institution established to meet the requirement of education and
training in Social Welfare Administration in India?

1.  Delhi School of Social Work

2. 5ir Dorabji Tata Graduate School of Social Work (now known as Tata
Institute of Social Sciences)

3. University of Baroda

4. Institute of Social Sciences

Options:

645350635511
64535063552, 2
64535063553, o
64535063554, 4

Question Number : 114 Question Id : 64635016174 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HId & WIS Sear e o e o uitem wt sewmea #t gid & g admm e
e it wre #me 4
1. S W i g as
2. TR ERTE! eTer duue S i S o (38 21E s eye i e
TEET F THE T w8
3. gfafdd sife age
4. gEterE offw S aeEe
Options:
453508355101
4525082552 2
45250832553 2
C4c3E083554 4

Question Number : 115 Question Id : 64635016175 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Nartional Institute for Visuallv Handicapped, Dehradun is mainlv responsible for—
(a) condueting innovative research
(b) organizing training programmes for manpower development

(e) extending credit facilities te persons with disabilities for their econamie
development

(d) delivering services for disabled people

Select the correct answer from the codes given below :
1. (@) and(®)
2 (a) (b)and (c)
3. () (®)and(d)
4 (a) (b). (c) and (d)

Options:

64535063555, 1
64535063556, 2
64835083557 2
4535083558 4

Question Number : 115 Question Id : 64635016175 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e sRrege B fagertt fies, dnvg o w0 @ e fou oeendt & 2
(a)  FarEt iy F o F
() T4 UfE F e & o oitem srfedl =1 smifem s
(¢ T anil & anfils faera & fore o= gt vem s
) FroEs ot B dmedt = wema

44 Ru M e 3 w8 I g
1L (@) 3R
2 (@ ®ME
3. (), ) AR ()
4. (2, () (0 M (d)

Options:

64635063555, 1
64535063556, 2
64535063557, 2
64835083558 4

Question Number : 116 Question Id : 64635016176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following characteristies are true about non-govermmental organizations?

(a) Non-profit oriented

(b) Self-governing

(c) Private or autonomous in complexion

(d) Creating partnership at global, national and regional levels for strategic

interventions

Select the comect answer from the codes given below :
1. (a), (b) and (c)
2. (b). (c)and (d)
3. (c)and(d)
4. (a) (b), (¢) and (d)

Options:

E4E35063559. 1

E4E35063560. 2

E4E35063561. 3
E4535063562. 4

Question Number : 116 Question Id : 64635016176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Profofae # 3 #-f Rdwo v el det Sy dad 22
@ MR-y e
(b) w@-EfyE
(© o g el o wms
() wmmmm:%mmﬂ@ummmnmﬂm
i3 forg o %<1 A @ wé I A
L (@) &) 3R ()
2 () (@R ()
(¢) A (d)

LF

4. (a). (). (c) 3R (d)

Options:

64535063559, 1
64535063560, 2
64535063561, o
64535063562, 4

Question Number : 117 Question Id : 64635016177 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following States has initiated the "Yuwva Swabhiman Scheme’ that
guarantees 100 days of employment every vear to the youth from economically weaker

section in urban areas”?
1. Himachal Pradesh
2. Madhva Pradesh

3. Assam
4. Tripura
Options:

E4E35063563. 1
64535063564, 2
64535063565, 3
64535063566, 4

Question Number : 117 Question Id : 64635016177 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35063563. 1
64535063564, 2
64535063565, 3
E453506356E. 4

Question Number : 118 Question Id : 64635016178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following lay emphasis on social justice and affirmative action?
{a) Preamble of the Constitution of India

(b}  Part VIII of the Constitution of India

(c) Part [1I of the Constitution of India

(d) Part IV of the Constitution of India

Select the comrect answer from the codes given below :
1. (@) (bl (c) and (d)
2. (b).(c)and (d)
3. (a) (c)and(d)
4. (a), ®)and (c)

Options:
4535063567, 1

EAE35063568. 2



EAE35063569. 3
BAE35063570. 4

Question Number : 118 Question Id : 64635016178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FmfafEy 3 8 $19-8 gafes O iR 98 Es SIEs W a9 5d 87

(a) G HfauE 2 e
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3. (), (c) AR (d)
4 (), () AR (o)

Options:
E4E35063567. 1

EAEZS0E356E. 2
E4E35063569. 3
BAE35063570. 4

Question Number : 119 Question Id : 64635016179 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Rashtriva Mahila Kosh falls under which of the following Ministries?

1.  Ministry of Social Justice and Empowerment

2. Ministry of Women and Child Development

3. Ministry of Finance

4. Ministry of Skill Development and Entrepreneurship

Options:
45350635711

EAE350E3572. 2
EAE35063573. 3
BAE35063574. 4

Question Number : 119 Question Id : 64635016179 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
45350635711

EAEZS0E3572. 2
EAE35063573. 3
BAE35063574. 4

Question Number : 120 Question Id : 64635016180 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following institutions look into specifie complaints regarding deprivation
or viclation of rights of minorities to establish and administer educational institutions of
their choice?

1.  National Commission for Minonties

2. National Commission for Minontv Educational Institutions
3. National Commission for Social and Educational Rights

4.  National Committee on Minonty Educational Institutions

Options:
4535063575 1

EAE350E357E. 2
EAE3S063577. 3
EAE35063578. 4

Question Number : 120 Question Id : 64635016180 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4535063575 1

EAE350E357E. 2
EAE35063577. 3
BAE35063578. 4

Question Number : 121 Question Id : 64635016181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following theorv of poliev-making emphasizes that political decisions and
policy choices are made with greater emphasis on the larger social, economic and
cultural comtext?

1.  Elite thecry

2. Institutional theory

3. Political system theory

4.  Rational choice theory

Options:

64635063579, 1
64535063580, 2
64535063581, 2
E4E35083582. 4

Question Number : 121 Question Id : 64635016181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. hiafos

2. wHunfas el

3. e womet Rt

4. ifs e foaia
Options:

64535063579, 1
64535063580, 2
E4EZ5063581. 3
EAE35063582. 4

Question Number : 122 Question Id : 64635016182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following theorv of policv-making assumes that ‘power is pluralistic
rather than concentrated in only a few elites™?

1.  Group theory
2. Institutional theory

3. Rational choice theory

4. Political system theory

Options:

64535063583, 1
4535083584, 2
64535063585, o
64535063586, 4

Question Number : 122 Question Id : 64635016182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535063583 1
64535063584, 2
64535063585, 3
64535063586, 4

Question Number : 123 Question Id : 64635016183 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mareh List—I with List—II :

List=] List=II
(Books) {Aurthors)
(a) Policy Change and Leavmiing : An (1) Frank Baumgartner and
Advoeacy Coalition Approach Bryan Jones
(b) Adgendas and Instability (i) Sabatier and Jenkins Smith
American Politics
(c) Institutional Analyvsis and (iii) Thomas E. Dye
Development
(d) Understanding Public Policy {iv) Elinor Ostrom

Choose the correct option from those given below :
L (arG)y (b)Gi); (c)Gii); (d-Gv)
2. (M) eG) (el (d-v)
3. (@) () (eHiv); (d)(iii)
4 () (b (eHiv); (d)()

Options:
E4E35063557. 1

E4E3506358E. 2
EAE35063589. 3
EAE35063530. 4

Question Number : 123 Question Id : 64635016183 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Lo (@) i) (it (d)-Gv)
2. (@) (b)G); (crGu), (dr-Gv)
3. (@G (b0 (e (d)Gii)
4. (ap(ii); (b)=G); (e)-Gv) (d)-i)

Options:

64635063587, 1

64535063588, 2

EdEZ50E3585. 3
E4B250E83580. 4

Question Number : 124 Question Id : 64635016184 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List— with List-II

List=I List=II
(Types of policies) (Examples)

(a) Distributive (i) Issuing professional licence to
members of a particular profession

(b} Regulatory (ii) Welfare of Scheduled Castes’
Scheduled Tribes

(¢) Re-distributive (iii) Conduet of Business Rules

(d) Procedural (iv) Farm subsidies

Choose the correct aption from those given below :
Lo (@ (bGi) (e, (d)-(v)
2. (@) (o)) (c)-Gv); (d)-0)
3. (i), ()iv); (i) (d)-0)
4. (@) ) (o)) (d)(ii)
Options:
64535063531, 1
64635083592, 2

64535063532, 3
EAEZ50635394. 4

Question Number : 124 Question Id : 64635016184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fdt=1 @t Feft-11 & gafta #ifae

-1 I
Hiferat F v (JaTeTm)
(a) TS (i) U fowe O¥ ¥ gewl &1 UdEaT weEe
A
by fafomsi (i) HIgfud wfagl/ g weniadl B
T
() AT (i) FHE-HaeE fra
(d) wieeara (v) P AT s
feu T fAeeg § © OE IO @1 904 Siag

L (@i ik (i) (d-iv)
2. (a) G (v (d-D
3. (i) (e)iv) (-G (d-m
4. (aGv)k G (e (d)-i)

Options:

E4535053591. 1

B4A5350635592. 2

64535063533, 3
64535063534, 4

Question Number : 125 Question Id : 64635016185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following statements about the role of media in policy-making is
NOT correct?

1. Itplavs a crucial role in creating public opinion.

2. Itprovides useful information and public demand through public opinion
broadcast.

Itis dvsfunctional in articulating the pressure of democratic svstem,

e

4. Itplavs arole of watchdog and keeps surveillance on the implementation of
public policies.

Options:

4835063595, 1
4535083596, 2
64535063597, o
64535063598, 4

Question Number : 125 Question Id : 64635016185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535063595, 1
4835083596 2
4535083597 2
64535063598, 4

Question Number : 126 Question Id : 64635016186 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Top-Down approaches of policy implementation do not envisage—
1. the clarity and consistency of policy objectives
2. the existence of a single statute or authoritative statement of policy
3. the bundling of policy tools

4.  the existence of an implementation chain of various stages of policy process

Options:

64535063599, 1
64535063600, 2
45350832601, 2
645350623602, 4

Question Number : 126 Question Id : 64635016186 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hift Frafaa & s g fraed s @ wa &
1. itforma el @t sapan Sl
2. Hitd @i s g |t SuE wiitied SU- @1 &
3. it WEH] S S

4. iforma wiem & fafim 9ol & smoiea faom s g
Options:
64535063599, 1
64535063600, 2
64E35063601. 2
E4535063602. 4

Question Number : 127 Question Id : 64635016187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who is key proponent of the bottom-up approaches of policy implementation?
1. Cad VanHom
2. Richard Elmore
3.  Donald Van Meter
4. Paul Sabatier

Options:
E4E35063603. 1

E4E35063604. 2
EAE35063605. 3



EAE35063606. 4

Question Number : 127 Question Id : 64635016187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=fifer-wrata @ S a1 g ufiues B 87

1. SEIAEH

2. fEduEin

3. BRARSTAHER

4. i e
Options:

E4E35063603. 1
EAE35063604. 2
E4E35063605. 3
EAE350636806. 4

Question Number : 128 Question 1d : 64635016188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Qua.n'l!i'l!ati'rt measurement in policy evaluation process focusses on—
(a) the outcomes in terms of the intentions made in policy statement
(b) the value of the outcome of the policy

(c) the extent to which the implementing agency has done its job in accordance with
policy directives

(d)  the adherence of the policy implementation process according to plan

Select the correct answer from the codes given below :

1. (a)and(b)
2. (a) () and ()
3. (2 (g)and(d)
4. (2), (b), (c) and (d)

Options:

425082607, 1

C4dE2E08Z608. 2

64535063609, 3
EAE350E3610. 4

Question Number : 128 Question Id : 64635016188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (a) S (b)
2. (@), ()3 (e)
3. (@) (o) S (d)
4. (@ (®)(c) ¥R (d)
Options:
64635063607, 1
64635063608, 2

64535063609, 3
4535063610, 4

Question Number : 129 Question Id : 64635016189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who developed the theory on “street-level bureaucrat™?
1. Michael Lipsky
2. David Easton

3. H.D.Lasswell

4. J L.Pressman and A Wildavsky
Options:
64535063611, 1
E4BZE0E3E12. 2
EAEZ50E3E13. 3
EAE35063614. 4

Question Number : 129 Question Id : 64635016189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frert “wie-tam s w9 fagia &1 e fem u?

1. HgEe Rt
. EHasdwa
3. uaEd aEw

4. F.UC UEEH SR U aneswt

Options:
4535063611, 1

EAE3S0E3E1Z. 2
EAE35063613. 3
BAE35063614. 4



Question Number : 130 Question Id : 64635016190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of following is incomect statement about the rational choice theory?
1. It draws heavily from economics.
2. It often uses mathematical modelling,
3, It assumes that individuals are rational actors in decision making,
4. The rational actors seel to maximize attainment of public interest.
Options:
64635063615, 1
64535063616, 2

4535063617, 3
645350636158, 4

Question Number : 130 Question Id : 64635016190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fofafaa # & #F-m Fu= aifes e figia F an § 7w 82
1. Tg HUwrE | iU w0 d pHfEa g
2. ug v Mitwa wiEfim @ Swim S g
3. gEAFE R o P A e sat f
4. T o wafee 9 wfiean Wity = o S E)

Options:

4635063615, 1
E4E350E3816. 2
64535063617, o
4535063618, 4

Question Number : 131 Question Id : 64635016191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following deseribed the conceprual vagueness of the term ‘gevemanees’
as the secret of its success?

1. Farazmand
2. Schneidner
3. Hye

4, Pollin

Options:
E4E35063619.

EAEZS0E3620,
EAE35063621.
BABZS0E3622,

[ N

Question Number : 131 Question Id : 64635016191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535063619, 1
EAEZ50E3620. 2
EAE35063621. 3
BAEZS0E3622. 4

Question Number : 132 Question Id : 64635016192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following views about good govemance is NOT correct?

1. The concept of good govemnance 15 associated with effective and efficient
administration

2. It subsumes purposive administration with development orientation
3. Ttenvisages committed bureancracy and independent judiciary

4. It undedlines partnership between government and civil society

Options:

64635063623, 1
64535063624, 2
64535063625 2
E4E3S0E3626. 4

Question Number : 132 Question Id : 64635016192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Praftfas # 3 s thso o S A e Al &
1. TS @ R sl 3R Fe e | dafie @
2. OE VOIS WO o e IE & iy Sk s e
3. aEuftes e i T it @ s e g
4 upateN R e end & 9 aEerl @1 Eifed @ 8
Options:
64635063623, 1
64635063624, 2

64535063625, 3
E4E350E362E. 4

Question Number : 133 Question Id : 64635016193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is NOT identified as a fundamental of New Public
Management by Nicholas Henry?

1 Alertness

2. Agility

3 Alignment

4. Adoption of private sector stvles of management
Options:
4535063627, 1
E4BZE0E3E2E. 2

EAE35063629. 3
EAE35063630. 4

Question Number : 133 Question Id : 64635016193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fefafas 3 @ fFosl e el I de W s maa seudafi s &7
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Options:

64635063627, 1
64535063628, 2
64535063629, 2
E4E350838320. 4

Question Number : 134 Question Id : 64635016194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is the parent organization of United Nations Development
Programmes?

1. Intemational Monetary Fund

2. World Economic Forum

3.  World Bank

4. United Nations Economic and Social Couneil
Options:
E4E25053631. 1
EAG35063632. 2

EAE35063633. 3
64535063634, 4

Question Number : 134 Question 1d : 64635016194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635063631, 1
64535063632, 2
64535063633 o
E4E350836324. 4

Question Number : 135 Question Id : 64635016195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Public choice approach emphasises which of the following?
(a) Antibureaueratie approach
(b) Institutional pluralism
() Separation of politics from administration

(d) Decentralisation

Select the correct answer from the codes given below :
1. (a). (b), (c) and (d)
2. (b). (c)and (d)

(2). (b) and (c)

4. (a), (b) and (d)

LS ]

Options:

64535063635, 1
64535063636, 2
E4E350E3837. 2
E4E350E2E32E. 4

Question Number : 135 Question Id : 64635016195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d) e
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L (a)(®).(c) ¥ (d)
2. (). (c) R (d)

(2). (b) ¥R (c)

as

4. (a), (b) ¥R (d)

Options:

4835063635, 1
E4E350E3E3E. 2
64535063637, o
645350623638, 4

Question Number : 136 Question Id : 64635016196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Use of ICT in administration can be credited with
(a) minimisation of storage place

(b} lessening securitv risks

(c) reducing redtapism

(d) having groupware as well as middleware

Select the correct answer from the codes given below :
L (a), (b) and (c)
2. (b), (c)and (d)
3. (a) (c)and(d)

4. (a), (b)and (d)

Options:

4535063639, 1
64535062640, 2
64535062641, o
64535063642, 4

Question Number : 136 Question Id : 64635016196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. (), (®) 3R (o)
2. (), () 3R (d)
3. (), (¢) 3R (d)
4. (a), (b) SR (d)
Options:
E4E35063639. 1
F4R3E0E3640. 2

E4E35063641. 3
BAE3506364%. 4

Question Number : 137 Question 1d : 64635016197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following factors play a cmucial role in the success of E-govemance
prajects?

(a) Information policies
(b}  Human resources
()  Prvate sector development

(d) Budgetarv resources

Select the comrect answer from the codes given below -
L (a). (b), (c) and (d)

(b). (c) and (d)

3. (a). (b)and (d)

et

4. (b) and (d)

Options:

4535063643 1
64535062644, 2
64535062645, o
64535063646, 4

Question Number : 137 Question Id : 64635016197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. (2), (), (c) 3T (d)
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Lad

(2), (b) 3 (d)
4. ()R
Options:
E4E35063643. 1
E4E35083644. 2

EAE35063645. 3
EAE3506364E. 4

Question Number : 138 Question Id : 64635016198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following form part of constitutional values?

EY) Human dignity and non-racialism
b) Equitv and advancement of human rights
(c) Social justice and inclusion

(d) Fule of Law

Select the comrect answer from the codes given below -
1. (a), (), (c) and (d)

(a), (b) and (c)

(a). (c) and (d)

Pt

Lad

4, (b) and (d)

Options:

E4E35063E647. 1
64535062648, 2
64535062649, o
64535063650, 4

Question Number : 138 Question Id : 64635016198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3. (@) (o) SR (d)
4. () SR(d)
Options:

EAEZ5063647. 1
E4E35063648. 2
E4E35063645. 3
64535063650, 4

Question Number : 139 Question 1d : 64635016199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following dees NOT play an important role in ensuring accountability in
administration?

1. Citizen's Charter

2. Right to Information
3. E-Governance

4.  Election Commission

Options:
45325085651 1

EAEZS0E365Z. 2
E4E35063653. 3
EAE35063654. 4

Question Number : 139 Question Id : 64635016199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fraferfan & 3 s v & sareed g = & oo wewrgl yfte T P 2
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Options:

E4E35063651. 1
EAE35063652. 2
E4E535063653. 3



EAE35063654. 4

Question Number : 140 Question Id : 64635016200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following rights fall under the Right to Information Act, 20057

(a) Right to inspect documents and records
(b)  Right to take centified samples of material

(c) Eight to receive information in the torm of pnintouts, tapes, video or in any other
electronic mode

(d) Fight to make informed decision

Select the comrect answer from the codes given below :
1. (a), (b), (c) and (d)

(b), () and (d)

(a). (¢) and (d)

b

Lad

4. (a), (b)and (c)

Options:

4835063655, 1
E4E3508365E. 2
64535063657, 5
64535062658, 4

Question Number : 140 Question Id : 64635016200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafafea 4 @ o9-8 sfter g & sfter dedt sfafmm 2005 & dofa am &7
(a) el s il & Sl e sfver
(b) Wl & UAiG AHA] Bl T B ST
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1. (a), (), (e) 3 (d)
2. (b)), (e) R (d)

(2), () 3R (d)

Lad

1. (), (b) H (c)

Options:
4235062655, 1

EAE35063656. 2
EAE35063657Y. 3
E4E535063658. 4

Question Number : 141 Question 1d : 64635016201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following characteristics of scientific method is reflected in the statement,
“Criticism is the life blood of science” of Karl Pearson?

1. Ethical newtrality
2. Generality
3. Predictions based on probability

4. Public methodology affording testing of conclusions

Options:

64535063659, 1
64535063660, 2
4835083661, 2
E4E350E3EE2. 4

Question Number : 141 Question Id : 64635016201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. HEEEE
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Options:

64635063659, 1
E4E3S0E36E0. 2
64535063661, 5
4535062662, 4

Question Number : 142 Question Id : 64635016202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Looking back I think it was more difficult to see what the problems were than to solve
them.” What does one infer from this statement of Darwin?

1. Difficultyin identifving issues for undertaking research
2. Difficultyvin formulation of a research problem
3. Difficultyin selecting tools for collecting data
4. Difficultyin prepanng research design
Options:
EAE350636E3. 1
EAE35063664. 2

E4E35063665. 3
64535063666, 4

Question Number : 142 Question 1d : 64635016202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535063663, 1
64535063664, 2
E4E350836E5. 2
E4E3E0E3EEE. 4

Question Number : 143 Question Id : 64635016203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and select the comect answer from the codes given
below :

Assertion (A) : Conceptual research is related to some abstract idea(s) or theorv.

Beason (R)  : It is data-based research coming up with conelusions capable of being
verified.

Codes :

1.  Both(A)and (R) are true and (R} is the comrect explanation of (A)
2. Both(A) and (R) are true but (R) is not the correct explanation of (4
3. (A)is true but (R) is false
4. (A)is false but (R)is true

Options:

64635063667, 1

64635063668, 2

E4E5350E3669. 3
EAEZS0E3670. 4

Question Number : 143 Question Id : 64635016203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535063667, 1
64535063668, 2
64535063669, o
64535063670, 4

Question Number : 144 Question 1d : 64635016204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of following is WOT the comrect meaning of a hvpothesis?
1. Itis a simple statement that explains some event
2. Itis a true statement about something
3. Itis a belief about something
4. Itis a prediction that suggests some conelusion

Options:

4835063671, 1
E4E3E0E3E72. 2
64535063673, o
4535063674, 4

Question Number : 144 Question Id : 64635016204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535063671, 1
E4E3S0E3R72. 2
E4E3E0E3E72. 2
4535063674, 4



Question Number : 145 Question Id : 64635016205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of following i1s NOT an important objective of prepanng a questionnaire to
conduct research survey?

1. Successfully gathering information that answers each study question
2. Moativating respondents to answer all questions to the best of their ability
3. Fan:i]il!a‘l!ing ﬁmd}' i:umpln:tinn aof the research SUrVey

4. Keeping all potential ervors to a minimum

Options:

64535063675, 1
64535063676, 2
E4E3E0E3E7Y. 2
4535063673, 4

Question Number : 145 Question Id : 64635016205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535063675, 1
4535063676, 2
64535063677, o
64535063678, 4

Question Number : 146 Question 1d : 64635016206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is not necessarily undertaken before setting out to observation
for a research 5I!1.Ln::|)f"':r

1.  Things to be observed
2. Method forrecording observation
3. Identifving the questions to be aslked

4.  Tools to ensure comrectness in observation

Options:

64535063679, 1
64535063680, 2
64535063681, 2
E4E3S0E36E2. 4

Question Number : 146 Question Id : 64635016206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:
646350836739, 1
E4E835083680. 2

EAEZS0E36E]L. 3
EAE3S0E3682. 4

Question Number : 147 Question Id : 64635016207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is the right sequential order of the major components of a
research repont?

(a) Introduction or rationale for the study
(b) Discussion on the methodology used for the study
(c) Complete discussion of the results or findings

(d) Review of the literature examined for the smdy

Select the cormrect answer from the codes given below :

1. (a), (b), (c) and (d)
2. (a), (g), (d)and (b)
3. (2), (d). () and ()
4. (a), (d), (c) and (b)

Options:

64635083683, 1

64635083654, 2

EAE35063685. 3
EAE350636586. 4

Question Number : 147 Question Id : 64635016207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Frafefs & 9 Fi-m i wiy vfede & wg smaodl =1 98t sgea 22
()  wogA & Rl wefa s aifae
®) e 3 i v Rl
(c) Pl sreqan afomdt v quf ==
(d) swmA & fom ote el v wfde 6t witan
2 o e 1 4 9 we 5w g
1. (a), (), (c) 3R (d)
2 @ @ (AR
3 (@) @), ®) W@
4. (a). (d), (c) 3 (b)
Options:
64635063683, 1
64635063684, 2
64635063685, 3
64635063686, 4

Question Number : 148 Question 1d : 64635016208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is NOT a practical ethical principle enunciated by J. Mitchell
that shapes morality in public administration research?

1.  Tmthfulness

2. Freedom of thoughts
3.  Throughness

4. Objectivity

Options:
E4E35062657. 1

EAE350E36EE. 2
EAE35063689. 3
E4E535063630. 4

Question Number : 148 Question 1d : 64635016208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FofefEe & @ sF-a o, firlle e shofes aeefe ke faee Al 2 s s

e Wy & S &1 fwto g 22
1. &
2. feani=twdE
ER - o
4. agE@
Options:

BAE35063687. 1
E4E35063688. 2
64535063689, 3



EAE35063630. 4

Question Number : 149 Question Id : 64635016209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of following is NOT an example of pnmary source of data?

1.  Imterview
2.  Life history
3. Amicles in professional journals
4. Case analysis

Options:

E4525082631. 1

EAE250E3692. 2

E4E35063633. 3
645350636394, 4

Question Number : 149 Question 1d : 64635016209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FofafEa # @ s=-m1 s & mults 99 &1 IS g 27

1. H&EER
2. diegd
3. T Sl H e
4, F9 fawwem
Options:

E4E350636591. 1
EAE350636392. 2
E4E350636593. 3
E4E535063654. 4

Question Number : 150 Question Id : 64635016210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Amanging a mass of data in some kind of concise and logical order is known as
1. editing of data

2. classification of data

o

3. tabulation of data

4.  data adjusting

Options:
4535063655 1

EAE350E363E. 2
EAE350636397. 3
E4E35063638. 4



Question Number : 150 Question Id : 64635016210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fameft dftrg o afée wn # siiws! =1 ooaftud s 51 Fema &7
1. sifest srduea
2. it e
3. siiEsl & IR,
4. Siieg & aaEeE
Options:
64635063695, 1
64635063696, 2

EAE35063637. 3
64535063638, 4



